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UGC NET PAPER 2 DECEMBER 1, 2021 SHIFT 2 ENGLISH QUESTION PAPER

Topic:- English_5HZ_SHAAN_NOVY21A

1) Read the following passage and answer the questions that follow:

[T]he aim of all solitude...is the same: to live more at leisure and at one’s ease. But people do not always look for the right
way. Often they think they have left business, and they have only changed it. There is scarcely less trouble in governing a
family than in governing an entire state: whatever the mind is wrapped up in it, it is all wrapped up in it, and domestic
occupations are no less importunate for being less important. Furthermore, by getting rid of the court and the marketplace
we do not get rid of the principal worries of our life....Ambition, avarice, irresolution, fear and lust do not leave us when
we change our country....They often follow us even into the cloisters and schools of philosophy. Neither deserts, nor rocky
caves, nor hair shirts, nor fastings will free us of them.

-- Michel de Montaigne, “Of solitude”

Which of the following best captures the theme of the passage?[Question ID = 10919][Question Description =

S4_qSNz_PG_ENG_Q01]

The court and the marketplace must be got rid of. [Option ID = 13673]
Try what one may, no one can ever be at ease. [Option 1D = 13674]
Ruling a state is easier than managing a family. [Option ID = 13675]
Solitude is one condition of peace with one self, [Option ID = 13676]

L L P —

Correct Answer -
® The court and the marketplace must be got rid of. [Option D = 13673]

2) Read the following passage and answer the questions that follow:

[T]he aim of all solitude...is the same: to live more at leisure and at one’s ease, But people do not always look for the right
way. Often they think they have left business, and they have only changed it. There is scarcely less trouble in governing a
family than in governing an entire state: whatever the mind is wrapped up in it, it is all wrapped up in it, and domestic
occupations are no less importunate for being less important, Furthermore, by getting rid of the court and the marketplace
we do not get rid of the principal worries of our life....Ambition, avarice, irresolution, fear and lust do not leave us when
we change our country....They often follow us even into the cloisters and schools of philosophy, Neither deserts, nor rocky

caves, nor hair shirts, nor fastings will free us of them.

-- Michel de Montaigne, “Of solitude”

The mistake human beings make is to:[Question ID = 10920][Question Description = 54_qSNz_PG_ENG_Q02]

abjure solitude when desirable. [Qption 1D = 13677]
abstain from the love of leisure. [Option D = 13678]
exaggerate the value of family. [Option D = 13679]
abstain from restraining the mind. [Option ID = 13680]

L kad RJ

Correct Answer ;-
® abjure solitude when desirable, [Option (D = 13677]

3)

Read the following passage and answer the questions that follow:

[T]he aim of all solitude...is the same: to live more at leisure and at one’s ease. But people do not always look for the right
way. Often they think they have left business, and they have only changed it. There is scarcely less trouble in governing a
family than in governing an entire state: whatever the mind is wrapped up in it, it is all wrapped up in it, and domestic
occupations are no less importunate for being less important, Furthermore, by getting rid of the court and the marketplace
we do not get rid of the principal worries of our life....Ambition, avarice, irresolution, fear and lust do not leave us when
we change our country.... They often follow us even into the cloisters and schools of philosophy. Neither deserts, nor rocky

caves, nor hair shirts, nor fastings will free us of them.

-- Michel de Montaigne, “Of solitude”
The “principal worries of our life” follow us if we:

A. detach our self from family life,

B. are deep into buying and selling.
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C. mentally abstain from hustle and bustle.
D. are in to schools of philosophy.
Choose the correct answer from the options given below:

[Question ID = 10921][Question Description = 54_qSNz_PG_ENG_QO03]
1. Band D only

[Option ID = 13681]
2. Aand Conly

[Option ID = 13682)
3. Cand D only

[Option ID = 13683]
4. Band C only

[Option ID = 13684)]
Correct Answer :-
a BandDonly
[Option ID = 13681]

Topic:- English_SH2_SHAAN_NOV21B

1) Read the following poem and answer the questions that follow:

A Prayer for Old Age

God guard me from those thoughts men think
In the mind alone;

He that sings a lasting song

Thinks in a marrow-bone;

From all that makes a wise old man
That can be praised of all;
O what am | that | should not seem

For the song's sake a fool?

| pray--for fashion's word is out
And prayer comes round again --
That | may seem, though | die old,
A foolish, passionate man.

- W.B.Yeats

Thoughts true for all time are;

[Question ID = 10922][Question Description = $4_qSNz_PG_ENG_Q04]
1. born of God’s care.

[Option ID = 13685]
2. for all human hearts.

[Option ID = 13686]
3. imbued with logic of mind.

[Option ID = 13687]
4, felt deep inside the self.

[Option ID = 13688]

Carrect Answer ;-
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# born of God’s care.

[Option ID = 13685]

2) Read the following poem and answer the questions that follow:
A Prayer for Old Age

God guard me from those thoughts men think

In the mind alone;

He that sings a lasting song

Thinks in a marrow-bone;

From all that makes a wise old man
That can be praised of all;
0O what am | that | should not seem

For the song's sake a fool?

| pray--for fashion's word is out
And prayer comes round again --
That | may seem, though | die old,
A foolish, passionate man.

- W.B.Yeats

In the second stanza the poet thinks of:

[Question ID = 10923 ][Question Description = 54_qSNz_PG_ENG_QO05]
1. what all makes a wise old man.

[Option ID = 13689]
2. what all earns all others’ praise.

[Option ID = 13690]
3. what he does not want to appear.

[Option ID = 13691]
4. what he thinks he is, a fool.

[Option ID = 13692]

Correct Answer ;-
& what all makes a wise old man.

[Option ID = 13689]

3) Read the following poem and answer the questions that follow:

A Prayer for Old Age

God guard me from those thoughts men think
In the mind alone;

He that sings a lasting song

Thinks in a marrow-bone;

From all that makes a wise old man

That can be praised of all;
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O what am | that | should not seem

For the song's sake a fool?

| pray--for fashion's word is out
And prayer comes round again --
That | may seem, though | die old,
A foolish, passionate man.

- W.B.Yeats

Which one of the following best captures what we infer about the poet?

[Question ID = 10924][Question Description = S4_qSNz_PG_ENG_Q06]

1. He believes in the efficacy of prayer.

[Option ID = 13693]
2. Heis an old man wise as old are.

[Option ID = 13694]
3. He is old but happy in not being wise.

[Option ID = 13695]
4, He is a foolish young man who thinks wisely.

[Option ID = 13696]

Correct Answer :-
# He believes in the efficacy of prayer.
[Option ID = 13693]

Topic:- English_SH2_SHAAN_NQV21C

1) Read the following extract and answer the questions that follow:

The earth was made for Dombey and Son to trade in, and the sun and moon were made to give them light. Rivers and
seas were formed to float their ships; rainbows gave them promise of fair weather; winds blew for or against their
enterprises; stars and planets circled in their orbits, to preserve inviolate a system of which they were the centre.
Common abbreviations took new meanings in his eyes, and had sole reference to them: A. D, had no concern with
anno Domini, but stood for anno Dombey—and Son.

- Charles Dickens, Dombey and Son

The whole description is an example of;

[Question ID = 10925][Question Description = 54_qSNz_PG_ENG_Q07]

1. aporia.

[Option ID = 13697]
2. image.

[Option ID = 13698]
3. analogy.

[Option ID = 13699]
4, sarcasm.

[Option ID = 13700]
Correct Answer :-
® gporia.

[Option ID = 13697]

2) Read the following extract and answer the questions that follow:

The earth was made for Dombey and Son to trade in, and the sun and moon were made to give them light. Rivers and
seas were formed to float their ships; rainbows gave them promise of fair weather; winds blew for or against their
enterprises; stars and planets circled in their orbits, to preserve inviolate a system of which they were the centre.
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Common abbreviations took new meanings in his eyes, and had sole reference to them: A. D. had no concern with
anno Domini, but stood for anno Dombey—and Son.

- Charles Dickens, Dombey and Son

What is the ‘system’ of which Dombey and Son were the centre?

[Question ID = 10926][Question Description = $4_qSNz_PG_ENG_Q08]
1. The British political system

[Option ID = 13701]
2. The country’s commerce

[Option ID = 13702]
3. The family business

[Option ID = 13703]
4. The workings of nature

[Option ID = 13704]
Carrect Answer ;-
# The British political system

[Option ID = 13701]

Topic:- English_SH2_SHAAN_NOV21D

1)

Read the following extract and answer the questions that follow:

Is man no more than this? Consider him well, Thou ow'st the worm no silk, the beast no hide, the sheep no wool, the
cat no perfume, --- Ha! here's three on’s are sophisticated. Thou art the thing itself; unaccommodated man is no more
than such a poor, bare, forked animal as thou art.

- Shakespeare, King Lear

‘Is man no more than this?’ means:

[Question ID = 10927][Question Description = 54_qSNz_PG_ENG_Q09]

1. Man is far more than what he seems to be.

[Option ID = 13705]
2. Man is not as well endowed as some other animals.

[Option ID = 13706]
3. Accomodated man is well endowed.

[Option ID = 13707]
4, As an animal, man is a superior animal.

[Option ID = 13708]
Correct Answer -
® Man is far more than what he seems to be.

[Option ID = 13705]

2) Read the following extract and answer the questions that follow:

Is man no more than this? Consider him well. Thou ow'st the worm no silk, the beast no hide, the sheep no wool, the
cat no perfume, --- Ha! here's three on's are sophisticated. Thou art the thing itself; unaccommodated man is no more
than such a poor, bare, forked animal as thou art.

- Shakespeare, King Lear

Which one of the following best captures what Shakespeare means?

[Question ID = 10928][Question Description = $4_qSNz_PG_ENG_Q10]
1. Man just uses what animals possess.

[Option ID = 13709]
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[ 2. Animals’ attributes are external.

[Option ID = 13710]
3. Man can accommodate same properties.

[Option ID = 13711]
4. Animals unlike man are more complex,

[Option ID = 13712]

Correct Answer ;-

® Man just uses what animals possess.
[Option ID = 13709]

Topic:- English_SH2_SHAAN_NOV21E

1) Who among the following was of the view that poetry was only an imitation of an imitation and therefore trivial?

[Question ID = 10929][Question Description = S4_qSNz_PG_ENG_Q11]
1. Plato [Option 10 = 13713]

2. Xenocrates [Option ID = 13714]

3. Phaedo [Option D = 13715]

4, Aristotle [Option ID = 13716]

Correct Answer ;-
« Plato [Option 1D = 13713]

2) In “The Life of Cowley” which two of the following criticisms were made by Samuel Johnson against a group of writers
he termed the ‘metaphysical poets’?

A. They made an inappropriate combination of wit and imagination,
B. Instead of writing poetry, they only wrote verses.

C. They neither copied nature nor life,

D. They never tried to be singular in their thoughts,

Choose the correct answer from the options given below:;

[Question ID = 10930][Question Description = S4_qSNz_PG_ENG_Q12]
1. Aand B only

[Option ID = 13717]
2. Band C only

[Option ID = 13718]
3. Band D only

[Option ID = 13719]
4, Cand D only

[Option ID = 13720]

Carrect Answer ;-
& AandB only

[Option ID = 13717]

3) In “The Function of Criticism at the Present Time” what is proposed by Matthew Arnold as the essence of criticism?

[Question ID = 10931][Question Description = 54_qSNz_PG_ENG_Q13]

1. affirmation

[Option ID = 13721]
2. judiciousness

[Option ID = 13722]
3. disinterestedness

[Option ID = 13723]
4. cohesiveness
[Option ID = 13724]
Correct Answer ;-
e affirmation

[Option ID = 13721]
4) How does T.S.Eliot sum up the peculiar quality of Marvell’s “ Horatian Ode”?[Question ID = 10932][Question

Description = S4_qS5Nz_PG_ENG_Q14]
1. ‘telescoping of images and multiplied associations’ [Option 1D = 13725]
| 2. 'atough reasonableness beneath a slight lyric grace' [Option ID = 13726]
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‘a contrast of ideas, different in degree but the same in principle’ [Option ID = 13727]
‘heterogeneity of materials compelled into unity’ [Option 1D = 13728]

Carrect Answer ;-

® ‘telescoping of images and multiplied associations” [Option ID = 13725]
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3) In his recasting the canon of English poetry in New Bearings in English Poetry which of the following pairs was

downgraded by F.R.Leavis ?[Question ID = 10933][Question Description = §4_qSNz_PG_ENG_Q15]
Browning and Arnold [Option ID = 13729]

2. Tennysen and Swinburne [Opticn ID = 13730]

3. Pound and Hopkins [Option |D = 13731]

4, Milten and Shelley [Option ID = 13732]

1.

Correct Answer ;-

® Browning and Arnold [Optien ID = 13729]

6) Words with the same pronunciation and different meanings are: [Question ID = 10934][Question Description =
S4_qSNz_PG_ENG_Q16]

homonyms. [Option ID = 13733]

homophones. [Option 1D = 13734]

homologues. [Option 1D = 13735]
homografts. [Option 1D = 13736]

oW R =

Correct Answer :-

e homonyms, [Option ID = 13733]

7) According to Ferdinand de Saussure, language is:

A. an interlocking structure,

B. a system of constant change,

C. a system of signs.

D. a self-standing formation.

Choose the correct answer from the options given below;

[Question ID = 10935][Question Description = $4_qSNz_PG_ENG_Q17]

1.

A and B only
[Option ID = 13737]

. Aand Conly

[Option ID = 13738]

. Band D only

[Option ID = 13739]
C and D only

[Option ID = 13740]

Carrect Answer ;-

A and B only
[Option ID = 13737]

8) The set of inflected forms taken by a single word is:

[Question ID = 10936][Question Description = S4_qSNz_PG_ENG_Q18]

T,

phoneme.

[Option ID = 13741]
morpheme,

[Option ID = 13742]

. SEMeme.

[Option ID = 13743]
lexeme.

[Option ID = 13744]

Correct Answer ;-

phoneme.

[Option ID = 13741]

9) Which pair of linguists in the following list is associated with ‘speech acts’?

[Question ID = 10937][Question Description = 54_qSNz_PG_ENG_Q19]

| 1. Noam Chomsky and Steven Pinker
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[Option ID = 13745]

2. J.L.Austin and John Searle
[Option 1D = 13746]

3. Paul Grice and Michael Devitt

[Option ID = 13747]
4. Franz Boas and Rudolf Camap

[Option ID = 13748]
Correct Answer :-
® Noam Chomsky and Steven Finker

[Option ID = 13745]

10) Usage in “You have hissed the mystery lectures.” is an example of:

[Question ID = 10938][Question Description = $4_qSNz_PG_ENG_Q20]
1. error of laxical choice,

[Option ID = 13749]
2. inadvertent mistake.

[Option ID = 13750]
3. spoonerism.

[Option ID = 13751]
4. metathesis.

[Option ID = 13752]

Carrect Answer ;-
& @rror of lexical choice,

[Option ID = 13749]

11) Who wrote the short story, “The Voter”?

[Question ID = 10939][Question Description = 54_qSNz_PG_ENG_0Q21]
1. Ngugi wa Thiong’o [Option 10 = 13753]

2. Wole Soyinka [Option ID = 13754]

3. Chinua Achebe [Option ID = 13755]

4. Chimamanda Mgozi Adichie [Option D = 13756]

Correct Answer :-
« Ngugi wa Thiong’o [Option 1D = 13753]

12) Which character in Hamliet utters the line: “Something is rotten in the state of Denmark”?[Question ID = 10940]
[Question Description = 54_qSNz_PG_ENG_Q22]

1. Marcellus [Option 1D = 13757]

2. Bernardo [Option ID = 13758]

3. Ghost [Option ID = 13759]

4. Heratio [Option ID = 13760]

Correct Answer ;-

* Marcellus [Option (D = 13757]

13) Who wrote the essay “My First Acquaintance with Poets”?[Question ID = 10941][Question Description =

54_qSNz_PG_ENG_0Q23]

1. Charles Lamb [Option ID = 13761]

2. William Hazlitt [Option ID = 13762]

3. Thomas De Quincey [Option 1D = 13763]
4. John Ruskin [Option ID = 13764]
Correct Answer ;-

# Charles Lamb [Option 1D = 13761]

14) Who wrote a postmodern reworking of Charles Dickens’s Great Expectations without altering the original title?

[Question ID = 10942][Question Description = 54_qSNz_PG_ENG_Q24]
1. Shirley Jackson [Option ID = 13765]

2. Kathy Acker [Option ID = 13766]

3. Angela Carter [Option D = 13767]

4. Peter Carey [Option ID = 13768]

Carrect Answer ;-
# Shirley Jackson [Option ID = 13765]

15) Who, in “The World as India,” argues that English can be the only common “unifying language” of India?
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[Question ID = 10943 ][ Question Description = 54_qSNz_PG_ENG_Q25]
1. 5Susan Sontag [Option 1D = 13769]

2. Moarn Chomsky [Option 1D = 13770]

3. Anthony Burgess [Option 1D = 13771]

4, C. K. QOgden [Option 1D = 13772]

Correct Answer :-

& Susan Sontag [Option ID = 13769]

16) In which book of Paradise Lost does Milton refer to “Agra and Lahore of Great Mogul”?

[Question ID = 10944][Question Description = 54_qSNz_PG_ENG_Q26]
1. Book Il [Option ID = 13773]

2. Book I¥ [Option D = 13774]

3. Book VIl [Option 1D = 13775]

4. Book X! [Option D = 13776]

Correct Answer :-

& Book [l [Option ID = 13773]

17) Which of the following narrative cycles is referred to in Michel Foucault’ s “What is an Author?”?

[Question ID = 10945][Question Description = 54_qSNz_PG_ENG_Q27]
1. The Canterbury Tales [Option 1D = 13777]

2. The Thousand and One Nights [Option 1D = 13778])

3. The Decameron [Option ID = 13779]

4. Tuti Namah [Option 1D = 13780]

Carrect Answer ;-
& The Canterbury Tales [Option ID = 13777]

18) Who is the author of “The Typology of Detective Fiction"?

[Question ID = 10946][Question Description = $4_qSNz_PG_ENG_Q28]
1. G. K. Chesterton [Option [D = 13781]

2. Umberto Eco [Option D = 13782]

3. Tzvetan Todorov [Option ID = 13783]

4. ¥ladimir Propp [Option D = 13784]

Correct Answer :-

& (. K. Chesterton [Option |0 = 13781]

19) Who among the following says that ideclogy is “a representation of the imaginary relationship of individuals to their real
conditions of existence”?

[Question ID = 10947][Question Description = 54_qSNz_PG_ENG_0Q29]
1. Herbert Marcuse [Option 10 = 13785]

2. Fredric Jameson [Option 1D = 13786]

3. Terry Eagleton [Option D = 13787]

4, Louis Althusser [Option ID = 13788]

Correct Answer :-
a Herbert Marcuse [Option 1D = 13785]

20) Which two among the following condemned the transportation of 50000 slaves into England in 17717
A. Samuel Johnson

B. Alexander Pope

C. Horace Walpole

D. Thomas Gray

Choose the correct answer from the options given below:

[Question ID = 10948][Question Description = 54_qSNz_PG_ENG_Q30]
1. Aand B only [Option 1D = 13789]
2. Band D only [Option 1D = 13790]
3. BandC only [Option 1D = 13791]
4, Aand C only [Option 1D = 13792]

Correct Answer ;-
& Aand B only [Option 1D = 13789]

21) Which two are the works of Ted Hughes?
A. Wildtrack
B. Wodwo
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D.

Choose the correct answer from the options given below:

[Question ID = 10949][Question Description = S4_qSNz_PG_ENG_Q31]

e it R

Co

Lupercal

Jack Straw’s Castle

A and B only [Option 1D = 13793]
A and C only [Option 10 = 13794]
B and C only [Option 1D = 13795]

B and D only [Option 1D = 13796]

rrect Answer :-
A and B only [Option 1D = 13793]
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22) Which two of the following are works by |. A. Richards?

A,
B.
c.

D. Eneglish Literature in Our Time and the University
Choose the correct answer from the options given below:

[Question ID = 10950][Question Description = S4_qSNz_PG_ENG_Q32]

B R L

Concepts of Criticism
Science and Poetry

The Philosophy of Rhetoric

A and B only [Option 1D = 13797]
B and C only [Option 1D = 13798]
A and D only [Option 10 = 13799]

B and D only [Option 1D = 13800]

Correct Answer ;-

A and B only [Option 1D = 13797]

23) Which two of the following essays form part of Mikhail Bakhtin’s The Dialogic Imagination: Four Essays?

A.
B.
C.
D.

Choose the correct answer from the options given below:

[Question ID = 10951][Question Description = S4_qSNz_PG_ENG_Q33]

b BRI —

“From the History of Novelistic Discourse”

“Discourse in the Novel”

“Romance and Novel”

“Forms of Time and the Chronotope in the Novel”

A and B only [Option 1D = 13801]
B and C only [Option 1D = 13802]
A and D only [Option 1D = 13803]

B and D only [Option 1D = 13804]

Correct Answer ;-

A and B only [Option 1D = 13801]

24) Which two of the following poems are by Judith Wright?

A. “Meditation on a Bone”

B.
C.
D.
Choose the correct answer from the options given below:

[Question ID = 10952][Question Description = S4_qSNz_PG_ENG_Q34]

o kad R

“Imperial Adam”
“Woman to Man”

“The Old Prison”

A and B only [Option ID = 13805]
C and D only [Option 10 = 13806]
B and D enly [Option 1D = 13807]

A and C only [Option 10 = 13808]

Correct Answer ;-

A and B only [Option 1D = 13805]

25) Which two of the following are the earliest colonial publishing initiatives that apply to India?
A. Andrew Lang Colonial Book Series

B. Murray Celonial and Home Library Series
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C. Colonial Library Series by Macmillan
D. Colonial Library Series by Chatto & Windus
Choose the correct answer from the options given below:

[Question ID = 10953][Question Description = S4_qSNz_PG_ENG_Q35]
1. A and B only [Option 1D = 13809]

2. Aand C only [Option 10 = 13810]

3. BandC only [Option 1D = 13811]

4, Band D only [Option 1D = 13812]

Correct Answer :-

& Aand B only [Option 1D = 13809]

26) Which two of the following conform to the documentation style prescribed by the eighth edition of the MLA Handbook?
A. Puig, Manuel. Kiss of the Spider Woman, translated by Thomas Colchie, Vintage Books, 1991,

B. Kincaid, Jamaica. “In History.” Callaloo, vol. 24, no. 2, Spring 2001, pp. 620-26.

C. Nunberg, Geoffrey, editor. The Future of the Book. U of California P, 1996.

D. Wellek, Rene. A History of Modern Criticism, 1750-1950, Yale UP, 1986.

Choose the correct answer from the options given below:

[Question ID = 10954][Question Description = S4_qSNz_PG_ENG_Q36]
1. A and B only [Option 1D = 13813]

2. Aand C only [Option 10 = 13814]

3. BandC only [Option 1D = 13815]

4, Band D only [Option 1D = 13816]

Correct Answer :-

o Aand B only [Option 1D = 13813]

27) Which two of the following are fallacious evaluations of poetry according to Matthew Arnold’s “The Study of Poetry”?
A. contextual estimate

B. personal estimate

C. comparative estimate

D. historic estimate

Choose the correct answer from the options given below:

[Question ID = 10955][Question Description = S4_qSNz_PG_ENG_Q37]
1. A and B only [Option 1D = 13817]
2. Band C only [Option 1D = 13818]
3. Cand Donly [Option 10 = 13819]
4, Band D only [Option ID = 13820]

Correct Answer ;-
o Aand B only [Option 1D = 13817]

28) Match List | with List Il

List | List Il
Plays |Playwrights
|. Dennis Scott

A. Madmen and Specialists

B. The Sea at Dauphin ‘II. Wole Soyinka
C. The Trial of Dedan Kimathﬂlll. Derek Walcott
D. An Echo in the Bone |IV. Ngugi wa Thiong’o

Choose the correct answer from the options given below:

[Question ID = 10956][Question Description = S4_qSNz_PG_ENG_Q38]
1. A-lIl,B-I¥, C-ll, D-l[Option ID = 13821]

2. A-ll,B-l,C-I,D-IV [Option ID = 13822]

3. A-1,B-1,C-IV, D-ll [Option D = 13823]

4, A-ll, B, C-1¥,D-1[Option ID = 13824]

Correct Answer :-

o A-lll,B-IV,C-ll,D-l[Option D = 13821]

29) Arrange the following journals in the chronological order of publication.

A. Longman’s Magazine
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B. Cornhill Magazine

C. Blackwood’s Magazine

D. Bentley’s Miscellany

Choose the correct answer from the options given below

[Question ID = 10957][Question Description = 54_qSNz_PG_ENG_Q39]
1. C, B, A, D [Option ID = 13825]
2. C,D, B, A[Option ID = 13826]
3. B, C, D, A[Option ID = 13827]
4, B, C, A, D [Option ID = 13828]

Correct Answer ;-
e C,B, A, D[Option ID = 13825]

30) Arrange the following poems by W. B. Yeats in the chronological order of publication.
A. “The Wild Swans at Coole”

B. “The Second Coming”

C. “Among S5chool Children”

D. “Adam’s Curse”

Choose the correct answer from the options given below

[Question ID = 10958][Question Description = 54_qSNz_PG_ENG_Q40]
1. A, C, D, B [Option ID = 13829]
2. D, A, B, C [Option ID = 13830]
3. C, A, B, D [Option ID = 13831]
4, C, A, D, B [Option ID = 13832]

Correct Answer ;-
e A C,D, B [Option ID = 13829]

31) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The implied reader shifts attention from the real reading individual to a disembodied dimension of reception,
intricately interwoven into the text,

Reason R: The ‘Dear Reader,’ invoked in the realist novels, is a fictional representation of the distant reader.
In light of the above statements, choose the most appropriate answer from the options given below

[Question ID = 10959][Question Description = 54_qSNz_PG_ENG_0Q41]

1. Both A and R are correct and R is the correct explanation of A [Option ID = 13833]

2. Both A and R are correct but R is NOT the correct explanation of A [Option ID = 13834]
3. Ais correct but R is not correct [Option (D = 13835]

4. A is not correct but R is correct [Option (D = 13836]

Correct Answer :-

# Both A and R are correct and R is the correct explanation of A [Option 10 = 13833]

32) Given below are two statements
Statement I;: The opening and closing lines of Waiting for Godot are spoken by Estragon.

Statement |l: Towards the end of the play Waiting for Godot, Estragon echoes Pozzo’s statement, “They give birth astride
of agrave .. .”

In light of the above statements, choose the correct answer from the options given below

[Question ID = 10960][Question Description = 54_qSNz_PG_ENG_Q42]
1. Both Statement | and Statement |l are true [Option (D = 13837]

2. Both Statement | and Statement [l are false [Option 1D = 13838]

3. Statement | is true but Statement Il is false [Option 1D = 13839]

4. Statement | is false but Statement Il is true [Option 1D = 13840]

Correct Answer :-

# Both Statement | and Statement Il are true [Option ID = 13837]

33) Given below are two statements

Statement I: Language is not a reliable tool of communication, says deconstruction, but argues in favour of a theory of sign
as a self-sufficient union of signifier and signified.

Statement II: Deconstruction claims that language is non-referential since it refers neither to the things in the world nor to
our concepts of things but only to the play of signifiers.

In light of the above statements, choose the most appropriate answer from the options given below



wWww.prepp.in .repp

Your Personal Exams Guide

[Question ID = 1096 1][Question Description = $4_qSNz_PG_ENG_Q43]
1. Both Statement | and Statement Il are correct [Option 1D = 13841]

2. Both Statement | and Statement |l are incorrect [Option ID = 13842]

3. Statement | is correct but Statement Il is incorrect [Option ID = 13843]

4. Statement | is incorrect but Statement |l is correct [Option ID = 13844]

Correct Answer ;-

& Both Statement | and Statement Il are correct [Option ID = 13841]

34) Which Shakespearean comedy is structured as a play within a play?

[Question ID = 10962][Question Description = S4_qSNz_PG_ENG_Q44]
. A Midsummer Night’s Dream [Option ID = 13845]

2. Love’s Labour’s Lost [Option ID = 13846]

3. The Comedy of Errors [Optien ID = 13847]

4. The Taming of the Shrew [Option ID = 13848]

ot

Carrect Answer ;-

o A Midsummer Night’s Dream [Option |D = 13845]

35) Which of the following is a dead language?

[Question ID = 10963][Question Description = 54_qSNz_PG_ENG_0Q45]

1. Gothic [Option ID = 13849]

2. Frisian [Option ID = 13850]

3. Yiddish [Opticn ID = 13851]

4. Cantonese [Option ID = 13852]

Correct Answer :-

o Gothic [Option ID = 13849]

36) Which of the following fictional characters is believed to be based on the 15'"-century real-life character, Vlad the
Impaler?

[Question ID = 10964][Question Description = $4_qSNz_PG_ENG_Q46]
1. Victor Frankenstein [Option ID = 13853]

2. Peter Quint [Option ID = 13854]

3. Count Dracula [Option ID = 13855]

4, Prince Manfred [Option ID = 13856]

Correct Answer ;-
e Victor Frankenstein [Option ID = 13853]

37) Which of the following terms describes a novel of fashionable high life in 19t"-century English literature?

[Question ID = 10965][Question Description = 54_qSNz_PG_ENG_Q47]
. Brass-5pittoon [Option ID = 13857]

2. Silver-Fork [Option ID = 13858]

3. Golden-Spoon [Option ID = 13859]

4. Diamond-Jar [Option ID = 13860]

—

Correct Answer :-
e Brass-Spittoon [Optien ID = 13857]

38) What term did Bertolt Brecht use for his mode of drama-writing to distinguish it from traditional theatre?

[Question ID = 10966][Question Description = 54_qSNz_PG_ENG_Q48]
. epic theatre [Option ID = 13861]

—

2. musical theatre [Option ID = 13862]
3. proletarian theatre [Option ID = 13863]
4. kitchen-sink theatre [Option 1D = 13864]

Carrect Answer ;-

s epic theatre [Option ID = 13861]

39) Who among the following posits the tradition of great writers as an inescapable fact, and takes the ambivalent



www.prepp.in 4 rep p

Your Personal Exams Guide

position of considering it as both a blessing and a curse?

[Question ID = 10967][Question Description = 54_qSNz_PG_ENG_Q49]
1. Harold Bloom [Option ID = 13865]

2. 1. 5. Eliot [Option ID = 13868]

3. Allen Tate [Option ID = 13867]

4. F.R. Leavis [Option ID = 13868]
Carrect Answer ;-

» Harold Bloom [Option ID = 13865]

40) Who among the following is associated with a ‘philosophy of praxis’?

[Question ID = 10968][Question Description = S4_qSNz_PG_ENG_Q50]
1. Georg Lukacs [Option 1D = 13869]

2. Raymond Williarns [Option |D = 13870]
3. Stuart Hall [Option ID = 13871]
4. Antanio Gramsci [Option ID = 13872]

Correct Answer ;-

s Georg Lukacs [Option ID = 13869]

41) Which hook by 1.G. Ballard is about a virus that freezes anything it comes in contact with?

[Question ID = 10969][Question Description = 54_qSNz_PG_ENG_Q51]
1. The Drowned World [Option ID = 13873]
2. Concrete fsland [Option D = 13874)
3. The Crystal World [Option D = 13875]
4, Kingdom Come [Option ID = 13876]

Correct Answer ;-

e The Drowned World [Option ID = 13873]

42) Which of the following terms is used to describe spurious words which are the result of inadvertent errors made
by copyists, printers and editors?

[Question ID = 10970][Question Description = S4_qSNz_PG_ENG_Q52]
1. dudwords [Option 1D = 13877]

2. ghostwords [Option ID = 13878]
3. protowords [Option ID = 13879]
4. pseudowords [Option ID = 13880]
Correct Answer ;-

e dudwords [Option 1D = 13877]

43) Which of the following statements best articulates Frantz Fanon’s political position?

[Question ID = 1097 1][Question Description = 54_qSNz_PG_ENG_0Q53]

1. Colonialism will die a natural death sans any violent struggle against it. [Option ID = 13881]

2. Social oppression in the third world is a matter more of race than of class. [Option ID = 13882]
3. The African bourgeoisie can never succeed in the task of nation building. [Option ID = 13883]
4. Peasants and social outcasts have little revolutionary potential in Africa. [Option ID = 13884]

44) Which of the following are books by Noam Chomsky?

Syntactic Structures

Verbal Learning and Verbal Behavior
Language and Society

Aspects of the Theory of Syntax

The Pragmatics of Politeness

men =P

Choose the correct answer from the options given below:
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[Question ID = 10972][Question Description = 54_qSNz_PG_ENG_Q54]
. Aand C only [Option 1D = 13885]

2. B and D only [Option ID = 13886]

3. C and E only [Option ID = 13887]

4. Dand A only [Option ID = 13888]

—

Correct Answer :-
¢ A and C only [Option ID = 13885]

43) Which among the following are examples of the Kiinstlerroman?

A. The Portrait of a Lady

B. David Copperfield

C. Tom Jones

D. A Portrait of the Artist as a Young Man

Choose the correct answer from the options given below:

[Question ID = 10973][Question Description = S4_qSNz_PG_ENG_Q55]
. A and C only [Option ID = 13889]
2. B and D anly [Option ID = 13890]
3. Aand B only [Option ID = 13891]
4. C and D only [Option ID = 13892]

—

Correct Answer ;-
e A and C only [Option ID = 13889]

46) Which of the following are novels by David Lodge?

A. The British Museum is Falling down
B. The Seven Sisters

¢. Changing Places

D. Nice Work

E. Empire of the Sun

Choose the correct answer from the options given below:

[Question ID = 10974][Question Description = 54_qSNz_PG_ENG_0Q56]
1. A, B and C only [Option ID = 13893]

2. B, D and E only [Option ID = 13894]

3. A, Cand D only [Option ID = 13895]

4. C, D and E only [Option ID = 13896]

Correct Answer :-

» A, Band Conly [Option ID = 13893]

47) Which of the following statements are true of English as used in India?

India is counted among the largest English-speaking communities in the world.
No group, community or population of Indians claims English as its mother tongue.

More than fifty per cent of Indians speak English fluently.
English is the country’s principal language of commerce.

mﬂpm?

With the growing stature of Hindi as lingua franca, it has supplanted English as the link language between the
central government and the states.

Choose the correct answer from the options given below:

[Question ID = 10975][Question Description = 54_qSNz_PG_ENG_Q57]
. Aand D only [Option 1D = 13897]
2. B and C only [Option ID = 13898]
3. Cand E only [Option ID = 13899]
4. D and E only [Option ID = 13900]

—

Carrect Answer ;-
» A and D only [Option ID = 13897]
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48) Match List | with List Il

List |

IList II

(Author)

(Text)

A. Robert Browning

l. Queen Mary

B.S. T. Coleridge

|II. The Second Mrs Tanqueray|

‘C. A. W. Pinero

|III. Remorse

‘D. Alfred Tennyson

|IV. The Borderers

E. William Wordsworth

V. Strafford

Choose the correct answer from the options given below:

[Question ID = 10976][Question Description = 54_qSNz_PG_ENG_Q58]
1. A=V; B-lII; C-lI; D-I; E-IV [Option 1D = 13901]

2. A-ll; B-IV; C-1Il; D-V; E-] [Option 1D = 13902]

3. A-lIl; B-V; C-l1; D-1; E-I1V [Option 1D = 13903]

4. A-IV; B-ll; C-I; D-V; E-Il] [Option 1D = 13904]

Correct Answer -

o A-V; B-lll; C-ll; D-1; E-IV [Option 1D = 13901]

49) Match List | with List I

List |

List Il

(Book)

(Poet)

A. Anniversaries

I. Abraham Cowley

B. The Temple

Il. John Donne

‘C. The Rehearsal Transpros’dlll. George Herbert

D. Pindarique Odes

IV. Andrew Marvell

Choose the correct answer from the options given below:

[Question ID = 10977][Question Description = 54_qSNz_PG_ENG_0Q59]

ot

. A-l; B-IV; C-1l; D-lll [Option ID = 13%05]

2. A-ll; B-lll; C-1V; D-| [Option ID = 13906]
3. A-lll; B-l; C-1V; D-ll [Option ID = 13907]
4. A-IV; B-ll; C-I; D-11 [Option ID = 13908]

Carrect Answer ;-

» A-l; B-1V; C-II; D-lll [Option ID = 13905]

50) Match List | with List I

List | List Il
(Novel) (Writer)
A. A Handful of Dust I. E. M. Forster

B. Brighton Rock

Il. Evelyn Waugh

‘C. Howard’s End

Ill. D. H. Lawrence

‘D, The Plumed Serpent

IV, Aldous Huxley

\E. Those Barren Leaves

V. Graham Greene

Choose the correct answer from the options given below:

[Question ID = 10978][Question Description = 54_qSNz_PG_ENG_Q60]
1. A= lIl; B-l; C-V; D-lI; E-IV [Option ID = 13%09]

2. A-1; B-1V; C-lI; D-1Il; E-V [Option ID = 13910]

3, A-ll; B-V; C-I; D-1lI; E-IV [Option ID = 13911)

4. A-V; B-ll, C-IV, D-1; E-Ill [Option ID = 13912]

Correct Answer :-

o A-Ill; B-1; C-V; D-ll; E-IV [Option ID = 13909]

51) Arrange in the right sequence the following stages of a child’s first language acquisition:

A. holophrastic
B. babbling

prepp
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C. telegraphic speech
D. cooing

Choose the correct answer from the options given below:

[Question ID = 10979][Question Description = 54_qSNz_PG_ENG_0Q61]
1. A,C, D, B

[Option ID = 13913]
2. B,AD,C

[Option ID = 13914]
3. C,B,AD

[Option ID = 13915]
4. D,B, A, C

[Option ID = 13916]

Carrect Answer ;-

« ACD,B

[Option ID = 13913]

52) choose the right chronological sequence of the following books:
A. Arundhati Roy, The God of Small Things

B. Kiran Desai, The Inheritance of Loss

C. Shashi Deshpande, That Long Silence

D. Jhumpa Lahiri, The Namesake

Choose the correct answer from the options given below:

[Question ID = 10980][Question Description = $4_qSNz_PG_ENG_Q62]
1. A, D, B, C

[Option ID = 13917]
2. B,C,D, A

[Option ID = 13918]
3. A DB

[Option ID = 13919]
4. D,B,C A

[Option ID = 13920]
Correct Answer :-
s« ADBC

[Option ID = 13917]

33) Arrange the following terms in the chronological order as these appeared in literary theory:
A. phallogocentrism

B. locutionary act

C. interpellation

D. interpretive community

Choose the correct answer from the options given below:

[Question ID = 10981][Question Description = 54_qSNz_PG_ENG_0Q63]
. A, D, C, B [Option ID = 13921]
2. B, C, A, D [Option ID = 13922]
3. C, B, D, A [Option ID = 13923]
4. D, A, B, C [Option 1D = 13924]

—

Correct Answer :-
o A, D, C, B [Option ID = 13921]

54) Given below are two statements:
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Statement I: All research heing original and uninspired, it is rare for a researcher to begin a project by deriving ideas
from predecessors,

Statement II: Studying and documenting past work on a research topic stifles the continual expansion of human
knowledge.

In the light of the above statements, choose the most appropriate answer from the options given below:

[Question ID = 10982][Question Description = 54_qSNz_PG_ENG_0Q64]
1. Both Statement | and Statement Il are correct. [Option D = 13925]

2. Both Statement | and Statement Il are incorrect. [Option ID = 13926]

3. Statement | is correct but Statement |l is incorrect. [Option 1D = 13927]
4. Statement | is incorrect but Statement Il is correct. [Option ID = 13928]
Correct Answer :-

» Both Statement | and Statement |l are correct. [Option ID = 13925]

%5) Given below are two statements:

Statement I: A pidgin is formed by two mutually unintelligible speech communities trying to communicate using the
most obvious features of each other’s language.

Statement II: Notwithstanding the number of years a pidgin is spoken, it can never become the mother tongue of a
community.

In the light of the above statements, choose the most appropriate answer from the options given below:

[Question ID = 10983][Question Description = $4_qSNz_PG_ENG_Q65]
1. Both Statement | and Statement Il are correct. [Option ID = 13929]

2. Both Statement | and Statement Il are incorrect. [Qption ID = 13930]

3. Statement | is correct hut Statement |l is incarrect. [Option 1D = 13931]
4, Statement | is incorrect but Statement Il is correct. [Option ID = 13932]

Correct Answer ;-

e Both Statement | and Statement Il are correct. [Option ID = 13929]

56) Which of the following are true of the dramatic legacy of Ben Jonson?
A, Jonson’s physiclogical interpretation of character and personality did not have any precedent.
B. Taking after the practice of the Moralities and Interludes, Jonson named his dramatis personae aptronymically.

C. Chapman’s All Fools and Middleton’s A Trick to Catch the Old One belong to the genre of Comedy of Humours that
Jonson is said to have pioneered.

D. John Marston and Thomas Dekker collaborated with Jonson in writing for a children’s company of players.

Choose the correct answer from the options given below:

[Question ID = 10984][Question Description = 54_qSNz_PG_ENG_Q66]
1. A and B only [Option ID = 13933]

2. Band C only [Option ID = 13934]

3. Cand D only [Option ID = 13935]
4. D and A only [Option D = 13936]

Correct Answer :-

» A and B only [Option ID = 13933]

57) Who is the author of The Truth about Me: A Hijra Life Story?[Question ID = 10985][Question Description =
S4_qSNz_PG_ENG_Q67]

1. A. Revathi [Option ID = 13937]

2. V. Geetha [Option 1D = 13938]

3. Bama [Option ID = 13939]

4, Mukta Sarvagod [Optien ID = 13940]

Correct Answer :-

e A, Revathi [Option ID = 13937]

58) Who wrote The Labyrinth of Solitude?[Question ID = 10986][Question Description = S4_qSNz_PG_ENG_Q#68]
| 1. Gabriel Garcia Marquez [Option ID = 13941]
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| 2. Octavio Paz [Option ID = 13942]
3. Gabriela Mistral [Option ID = 13943]
4. Jorge Luis Borges [Option [D = 13944]

Correct Answer :-
® Gabriel Garcia Marquez [Option 1D = 13941]

59) What was the centre set up for studying culture at the University of Birmingham called?[Question ID = 10987]

[Question Description = 54_qSNz_PG_ENG_Q69]
1. Centre for Contemporary Studies [Option ID = 13945]
2. Centre for Culture Studies [Option [D = 13946]

3. Centre for New Cultural Studies [Option (D = 13947]

4, Centre for Contemporary Cultural Studies [Option ID = 13948]

Correct Answer ;-
e Centre for Contemporary Studies [Option 1D = 13%45]

60) Who is the creator of the character, Julien Sorel?[Question ID = 10988][Question Description = 54_qSNz_PG_ENG_Q70]
1. Balzac [Option 1D = 13949]

2. Flaubert [Option 1D = 13950]

3. Moliere [Option ID = 13951]

4, Stendhal [Option ID = 13952]

Correct Answer ;-
e Balzac [Option D = 13949]

61) Which of these are true of Raymond Williams® Culture and Society?
A. It critiques the fdea of high culture.

B. It overlooks the idea of high culture.

C. It defines culture as a way of life.

D. It equates culture with science.

Choose the correct answer from the options given below:

[Question ID = 10989][Question Description = $4_qgSNz_PG_ENG_Q71]
1. Aand B only

[Option ID = 13953)
2. Aand Conly

[Option ID = 13954]
3. Band Donly

[Option ID = 13955]
4. Aand D only

[Option ID = 13956]
Correct Answer ;-
¢ AandBonly
[Option ID = 13953]

62) Which of the following does Urvashi Butalia’s The Other Side of Silence primarily seek to do?
A. To understand the Partition as something more than a political divide

B. To foreground a personal history of the Partition

C. To foreground the Partition as an event more tragic than the Holocaust

D. To find and unite families separated at the Partition

Choose the correct answer from the options given below:

[Question ID = 10990][Question Description = 54_qSNz_PG_ENG_Q72]
1. Aand B only

[Option ID = 13957]
2. Band C only

[Option ID = 13958)]
3. Cand D only

[Option ID = 13959]
4. Aand D only

[Option ID = 13%60]

Correct Answer ;-
o AandBonly
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[Option ID = 13957]

63) Match List | with List Il

List | List I

(Book) (Author)

A. English, August |. Shyam Selvadurai

B. In Custody Il. Anita Desai

C. Such a Long Journey lll, Rohinton Mistry

D. Funny Boy IV. Upamanyu Chatterjee|

Choose the correct answer from the options given below:

[Question ID = 10991][Question Description = 54_qSNz_PG_ENG_Q73]
1. A-IV,B-1l, C-1ll, D-1[Option ID = 13961]

2. A-Ul,B-1l,C-1, D- IV [Option ID = 13962]

3. A-1,B-1l,C- IV, D-lll [Option ID = 13963]

4. A-1,B-1V, C- 1, D- Il [Option ID = 13964]

Correct Answer :-

o A-IV,B-1l,C-1I, D-1[Option 1D = 13961]

64) Which of these may be said to be true of the journal published from Bowling Green University from 1969, which
carried essays on Spiderman comics, rock music, and detective films?

A. It sought to highlight the importance of popular culture.
B. It sought to highlight the importance of elite culture.

C. It sought to buttress the canon by making it more elitist.
D. It sought to break down the dominance of ‘high’ culture.
Choose the correct answer from the options given below:

[Question ID = 10992][Question Description = 54_qSNz_PG_ENG_Q74]
1. Aand Bonly

[Option ID = 13965]
2. Aand D only

[Option ID = 13966]
3, Band C only

[Option ID = 13967]
4. Band D only

[Option 1D = 13968)
Correct Answer :-
o AandBonly

[Option ID = 13965]

65) Match List | with List Il

List | List Il

(Writer) {Book}

A. Homi Bhabha I. Reading the Popular

B. T S Eliot Il. The Location of Culture

C. Roland Barthes . Notes towards the Definition of Culture
D. John Fiske IV. Image-Music-Text

Choose the correct answer from the options given below:

[Question ID = 10993][Question Description = 54_qSNz_PG_ENG_Q75]
1. A-IV,B-1l,C-11, D-I[Option ID = 13969]
2. A-NILB-1, C-1, D- IV [Option ID = 13970]
3. A-1,B-1I,C-1v,D- Il [Option ID = 13971]
4. A-I,B-1I,C-IV, D-1[Option ID = 13972]

Correct Answer ;-
« A-I¥,B-Il, C-1I,D-1[Option ID = 13969]

66) Who, among these, are songwriters who have been awarded the Nobel Prize for Literature?
A. Elton John

B. Rabindranath Tagore
C. Bob Dylan
D. Bob Marley
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Choose the correct answer from the options given below:

[Question ID = 10994][Question Description = 54_qSNz_PG_ENG_Q76]
1. A and B only [Option 1D = 13973]
2. BandC only [Option 1D = 13974]
3. Cand D only [Option 1D = 13975]
4, A and D only [Option 1D = 13976]

Correct Answer ;-
& A and B only [Option ID = 13973]

67) Which of the following qualify for the label ‘cultural intermediary’ in the context of a commercial film?
A. The film magazine columnist

B. The director

C. Fan clubs

D. The producer

Choose the correct answer from the options given below:

[Question ID = 10995][Question Description = S4_qSNz_PG_ENG_Q77]
1. Aand B only

[Option 1D = 13977]
2. Aand Conly
[Option ID = 13978]
3. Band C only
[Option 1D = 13979]
4. Band D only
[Option ID = 13%80]
Correct Answer :-
o AandBonly
[Option 1D = 13977]

68) Which of the following is true of mass media?[Question ID = 10996][Question Description = $4_qSNz_PG_ENG_Q78]

It usually has a central, single source. [Option ID = 13981]
Its audience is in close proximity to its source. [Option ID = 13982]
It can affect a localised population only. [Option D = 13983]

It usually has multiple sources. [Option ID = 13984]

o R

Correct Answer ;-

» It usually has a central, single source. [Option ID = 13981]

69) With which of the following movements is Charles Baudelaire’s Flowers of Evil generally associated?
A. Neo-classical

B. Symbolist

€. Modernist

D. Postmodernist

Choose the correct answer from the options given below:

[Question ID = 10997][Question Description = 54_qSNz_PG_ENG_Q79]
1. Aand B only

[Option ID = 13985]
2. Band C only

[Option ID = 13986]
3. Cand D only

[Option ID = 13987]
4. Aand D only

[Option ID = 13988)]
Correct Answer :-
o AandBonly
[Option ID = 13985]

70) Which of these departments did the Wood’s Despatch of 1854 recommend setting up in the universities?
A. Arabic
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B. English

C. French

D. Law

Choose the correct answer from the options given below:

[Question ID = 10998][Question Description = 54_qSNz_PG_ENG_Q80]
A, B and C only [Optien ID = 13989]
A, B and D only [Optien ID = 13990]
B, C and D only [Option ID = 13991]
A, Cand D only [Option ID = 13992]

e it R

Correct Answer ;-
e A, Band C only [Option ID = 13989]

71) Which of these are generally taken to be true of Cultural Studies?
A. It is politically engaged.

B. It privileges text over context.

C. It has a symbiotic relationship with Formalism.

D. It studies the means of production of a text.

Choose the correct answer from the options given below:

[Question ID = 10999][Question Description = 54_qSNz_PG_ENG_Q81]
A and B only [Option 1D = 13993]
A and C only [Option 10 = 13994]
A and D only [Option 10 = 13995]
B and D only [Option 1D = 13996]

P bl B —

Correct Answer ;-
e Aand B only [Option 1D = 13993]

72) Which of these countries does Montaigne’s essay, “Of Cannibals,” focus on primarily?[Question ID = 11000][Question
Description = S4_qSNz_PG_ENG_Q82]

India [Option 1D = 13997]

Brazil [Optien ID = 13998]

Japan [Option ID = 13999]

Borneo [Option ID = 14000]

oW R

Correct Answer ;-
e [ndia [Option 1D = 13997]

73) Arrange the following characters in the chronological order in which they appeared in Indian literature,
A. Praneshacharya (Samskara)

B. Sakuni (Mahabharata)

C. Rusty (The Room on the Roof)

D. Gobar (Godan)

Choose the correct answer from the options given below

[Question ID = 11001][Question Description = 54_qSNz_PG_ENG_Q83]
A, B, C, D [Option ID = 14001]
B, A, C, D [Option ID = 14002]
B, C, D, A [Option ID = 14003]
B, D, C, A [Option ID = 14004]

oW R

Correct Answer ;-
e 4, B, C, D [Option ID = 14001]

74) Which of these themes best sums up the preoccupation of most of Vijay Tendulkar’s plays?[Question ID = 11002]

[Question Description = 54_qSNz_PG_ENG_Q84]
Dynamics of media [Option D = 14005]

Motivations of crime [Option (D = 14006]

Workings of power [Option D = 14007]

Workings of love triangles [Option D = 14008]

ol o

Correct Answer ;-
* Dynamics of media [Option D = 14005]

75) Which of these is identified by Ariel Dorfman and Armand Mattelart as having been deployed in Walt Disney comicbooks
to propagate imperialist ideology?
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[Question ID = 11003][Question Description = 54_qSNz_PG_ENG_Q85]

1. Impoverishment

[Option ID = 14009]
2. Deification

[Option ID = 14010]
3. Personification

[Option ID = 14011]
4. Infantilisation

[Option ID = 14012]
Correct Answer :-
* |mpoverishment

[Option ID = 14009]

76) Match List | with List Il

List | List Il

(Poem} (Poet)

A. “The Road Not Taken” |. Pablo Neruda

B. “Tonight | can Write the Saddest Lines” Il. Robert Frost

C. “l1 hear America Singing” lll. Langston Hughes|
D. "l, too, Sing America” IV. Walt Whitman

Choose the correct answer from the options given below:

[Question ID = 11004][Question Description = 54_qSNz_PG_ENG_Q86]
1. A-Il,B-1,C-1¥, D- Il [Option ID = 14013]
2. A-1,B-1,C-1N, D- IV [Option ID = 14014]
3. A-I,B-1l,C- IV, D-1[Option ID = 14015]
4. A-I¥,B-1,C-Il,D- Il [Option ID = 14016]

Carrect Answer ;-
® A-I,B-I1,C-1V,D-Ill [Option ID = 14013]

77) Which of the following did Owuor Anyumba, Taban Lo Livong and Ngugi wa Thiongo object to in 19687
A, the primacy of English literatures and cultures

B. the centrality of Africa in the Department of English

C. the primacy of orature in the syllabus

D. the focus on the study of the historic continuity of English literature

Choose the correct answer from the options given below:

[Question ID = 11005][Question Description = $4_gqSNz_PG_ENG_Q87]
1. Aand B only

[Option ID = 14017]
2. Band C only

[Option ID = 14018]
3. Cand D only

[Option ID = 14019]
4. Aand D only

[Option ID = 14020]
Correct Answer ;-
a AandBonly

[Option ID = 14017]

78) Arrange chronologically the following texts in terms of their years of first publication:
A, Edmund Spenser’s The Faerie Queene

B. Coleridgze and Wordsworth's Lyrical Ballads

C. Pablo Neruda’s Canto General

D. Charles Baudelaire’s The Flowers of Evif

Choose the correct answer from the options given below

[Question ID = 11006][Question Description = 54_qSNz_PG_ENG_Q88]
1. A, B, C,D

[Option ID = 14021]
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| 2. A, B,D,C

[Option ID = 14022]
3. B,C,A,D

[Option ID = 14023]
4. D, A, B, C

[Option ID = 14024]
Correct Answer ;-
« A B C,D

[Option ID = 14021]

79) Which of these characters figure in Samuel Beckett’s Waiting for Godot?
A. Estragon

B. Pozzo

C. Bassanio

D. Murphy

Choose the correct answer from the options given below:

[Question ID = 11007][Question Description = 54_qSNz_PG_ENG_Q89]
A and B only [Option ID = 14025]
B and C only [Option ID = 14026]
C and D only [Option 10 = 14027]
A and D only [Option 10 = 14028]

T

Correct Answer :-
« A and B only [Option 1D = 14025]

80) Who is the author of The Otherness of English: India’s Aunty Tongue Syndrome?[Question ID = 11008][Question

Description = S4_gSNz_PG_ENG_Q9%0]
Probal Dasgupta [Option 1D = 14029]

Yamuna Kachru [Option ID = 14030]

Binoo K. John [Option 1D = 14031]
S.K.Werma [Option 1D = 14032]

da kd B

Correct Answer :-
® Probal Dasgupta [Option 1D = 14029]

81) Match List | with List I

List | lList
(Library/Institute) |{anatinn)
A. Connemara Public Library |I. Kolkata
B. Dhvanyaloka |II. Chennai
C. Bhandarkar Oriental Institute |III. Mysore
D. Asiatic Society |IV. Pune

Choose the correct answer from the options given below:

[Question ID = 11009][Question Description = S4_qSNz_PG_ENG_Q91]
1. A-l,B-ll, C-I¥, D -l [Option ID = 14033]
2. A-lIl,B-IV,C-Il, D-l[Option ID = 14034]
3, A-IV,B-l,C-lIl,D-lll[Option ID = 14035]
4, A-ll,B-IIl, C-IV,D-l[Option ID = 14036]

Correct Answer :-

e A-l,B-lI,C-IV,D-Il [Option ID = 14033]

82) Arrange the following groups of poets in their chronological sequence in relation to English literary history:
A, The Imagist poets

B. The Cavalier poets

C. The Movement poets

D. The Lake poets

Choose the correct answer from the options given below

[Question ID = 11010][Question Description = 54_qSNz_PG_ENG_Q92]
B, D, C, A [Option ID = 14037]
D, A, B, C [Option ID = 14038]
D, B, A, C [Option ID = 14039]
B, D, A, C [Option ID = 14040]

H

o 2
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Correct Answer :-
e B, D, C, A[Option ID = 14037]

83) Match List | with List Il

List | List Il

(Text) (Author})

A. Advancement of Learning l. Susan Sontag

B. Past and Present ll. Francis Bacon
C. English Traits lll. Thomas Carlyle
D. lliness as Metaphor |IV. R. W. Emerson

Choose the correct answer from the optiens given below:

[Question ID = 11011][Question Description = 54_qSNz_PG_ENG_Q93]
1. A-l, B-lI, C-I¥, D -l [Option ID = 14041]
2. A-ll,B-IV,C-ll, D -l [Option ID = 14042]
3. A-ll, BN, C-IV, D -l [Option ID = 14043]
4. A-IV,B-l,C-ll, D -l [Qption |D = 14044]
Carrect Answer ;-

o A-l,B-ll,C-IV,D-Il [Option ID = 14041]

84) Arrange the following terms in their chronological sequence of appearance:
A. dissociation of sensibility

B. unreliable narrator

C. theatre of cruelty

D. egotistical sublime

Choose the correct answer from the options given below

[Question ID = 11012][Question Description = 54_qSNz_PG_ENG_Q94]
1o DA B

[Option ID = 14045]
2. D,A,C,B

[Option 1D = 14046)
3, D,BA,C

[Option ID = 14047]
4. B,D, A, C

[Option 1D = 14048])
Correct Answer :-
« D,A B, C

[Option ID = 14045]

85) Match List | with List Il

List | List Il

(Text) (Author)

A. The Lie of the Land l. Alok Mukherjee

B. Masks of Conguest |Il. Rajeswari Sunder Rajan
C. Rethinking English Ill. Gauri Viswanathan

D. This Gift of English [IV. Svati Joshi

Choose the correct answer from the options given below:

[Question ID = 11013][Question Description = 54_qSNz_PG_ENG_Q95]
1. A-ll,B-IIl, C-IV, D -l [Option ID = 14049]

2. A=, B-IV, C-ll, D-l [Option ID = 14050]

3. A-L,B-I, C-IV, D -l [Option D = 14051]

4, A-I¥,B-1,C-lIl,D-ll [Option ID = 14052]

Correct Answer :-

o A-ll,B-Il,C-IV,D-l[Option ID = 14049]

86) Which of the following abbreviations refers to a documentation style?

[Question ID = 11014][Question Description = $4_qSNz_PG_ENG_Q96]
1. PMLA

[Option ID = 14053]
2. MHRA

[Option ID = 14054]
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| 3. ARIEL

[Option ID = 14055]
4. MFS

[Option ID = 14056]

Carrect Answer ;-
& PMLA

[Option ID = 14053]

87) The MLA Style Sheet, a compilation of scholarly conventions and directives, was first published in:[Question ID = 11015]

[Question Description = $4_qSNz_PG_ENG_Q97]
1970. [Option ID = 14057]
1962, [Option ID = 14058]
1951, [Option ID = 14059]
1957, [Option ID = 14060]

R

Carrect Answer ;-
& 1970, [Option ID = 14057]

88) Who among the following has coined the term, ‘ecofeminism’?

[Question ID = 11016][Question Description = $4_qSNz_PG_ENG_Q98]
1. Helene Cixous

[Option ID = 14061]
2. Francoise d’Eaubonne

[Option 1D = 14062]
3. Marguerite Duras

[Option ID = 14063]
4. Monique Wittig

[Option ID = 14064]
Correct Answer ;-
« Helene Cixous
[Option ID = 14061]

89) Who is the author of Radiant Textuality?

[Question ID = 11017][Question Description = S4_qSNz_PG_ENG_Q99]
1. Richard D. Altick

[Option ID = 14065]
2. James Thorpe

[Option ID = 14066]
3. Gerald Graff

[Option ID = 14067]
4, Jerome McGann
[Option ID = 14068]

Carrect Answer ;-

# Richard D. Altick

[Option ID = 14065]

90) Arrange the following in their chronological order:
A. English replaces Persian as official language of the Company

B. Arrival of Charles Grant in India

C. Universities established in Calcutta, Bombay and Madras
D. Construction of Fort William in Calcutta

Choose the correct answer from the options given below

[Question ID = 11018][Question Description = 54_qSNz_PG_ENG_Q100]
D, B, C, A [Option ID = 14069]
D, A, C, B [Option ID = 14070]
, A, D, C [Option ID = 14071]
,» B, A, C [Option 1D = 14072]

P it R

B
D
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Correct Answer ;-
e D, B, C, A[Option ID = 14069]

Topic:- GP_01DEC_S5HZ_A

1) Study the given table carefully and answer the questions that follow

The given table has the number of students enrolled for different courses in 5 different years along with their male and
female categorization.

Year BSc BA BCom

M F M F M F
2016 380 220 520 405 200 80
2017 390 230 525 417 210 85
2018 395 235 535 427 212 87
2019 405 250 538 430 215 91
2020 415 275 543 438 221 97

&t a1¢ urzvil @ Arauciigde aféu aeun sud ol ke s gl a5 saz dfse @

oI & a1 At 3 5 fafice adf # Rfiea argemal 3 srwifesa Renf2ii S dween & o E aen Renfi o sy aen swp & Qo 3
fusafSrer faar srn ¥ :

jReaz i | dla. dl<ia.
O] | Bl B3] |9l 3K | Sl
2016| 380 | 220 |520/405| 200 | 80
2017| 390 | 230 |525/417| 210| 85
2018| 395 | 235 |535(427| 212 | 87
2019 | 405 | 250 |538(430| 215 | 91
2020 | 415 | 275 |543(438| 221 | 97

ad

Find out the total number of male students in the college during 2018-2020.

ad 2018-2020 @& Siaol Bickl A STl B Tl AT ARy

[Question ID = 11069][Question Description = $2_gqSNz_PG_GP34_Q01]
1. 3479

[Option ID = 14273]
2. 3480

[Option ID = 14274]
3. 3481

[Option ID = 14275]
4. 3482

[Option ID = 14276]
Carrect Answer ;-
& 3479

[Option ID = 14273]

2) Study the given table carefully and answer the guestions that follow

The given table has the number of students enrolled for different courses in 5 different years along with their male and
female categorization.

o— BSc BA BCom

M F M F M F
2016 380 220 520 405 200 80
2017 390 230 525 417 210 85
2018 395 235 535 427 212 87
2019 405 250 538 430 215 91
2020 415 275 543 438 221 97

& =¥ Aol ot Fmersigde ot aeur saw ot Ry oo gual @ Jae dife @
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s & = Aol # 5 RAffsar gl A Rifsrear argerpal A sumifisa Renfial 5t dwen & 51 § aen Renf2fel ot @iq aen sy &t gifored
tenira fooar sem &

.oz 3t g, @i
Br] | B0 BT |[BKH | B | O&0
2016| 380 | 220 |520/405| 200 | 80
2017| 390 | 230 |525/417| 210| 85
2018| 395 | 235 |535/427| 212 | 87
2019 | 405 | 250 (538|430 215 | 91
2020| 415 | 275 |543|438| 221 | 97

ad

Find out the ratio between female students of BA and BCom during 2016-2020,

ad 2016 - 2020 @& dizrel 41 © den &t Sin S swyal St A= DI AgarT Sy

[Question ID = 11070][Question Description = $2_gqSNz_PG_GP34_Q02]

. 215 2115
442 ' 7442

[Option ID = 14277]

2115 2115

440 ' 240

[Option ID = 14278]

5 217 2117
442 ' 7442

[Option ID = 14279]

2117 2117

440 /440

[Option ID = 14280]

2.

4.

Correct Answer :-
2115 2115

442 ' 242

[Option ID = 14277]

3) Study the given table carefully and answer the questions that follow

The given table has the number of students enrolled for different courses in 5 different years along with their male and
female categorization.

Year BSc BA BCom

M F M F M F
2016 380 220 520 405 200 80
2017 390 230 525 417 210 85
2018 395 235 535 427 212 87
2019 405 250 538 430 215 91
2020 415 275 543 438 221 97

2l a1F wvll ! amereiiyds ufgy aen s ofid e s1v geell @ gaz difaw @

ofr &t a1 avit 3 5 fafica aof 3 fafiea argergdl 3 swikca e B siwn & s1f § aon fRenfil o ory aen =wp ot gvri 3
fsafSrer e srn ¥ :

jReaz i | dlg. dl<nia.
o] | Bl B3] |9l 3k | Sl
2016| 380 | 220 |520/405| 200 | 80
2017 | 390 | 230 [525/417| 210 | 85
2018| 395 | 235 |535/427| 212 | 87
2019 | 405 | 250 |538(430| 215 | 91

ad
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2020 415 | 275 |543|438| 221| 97 |

Find out the ratio between the percentage increase of male students and the percentage increase of female students from
2016 to 2017.

ad 2016 31 2017 @ o ol 5t sz # gie © gierer aen oyl &1 Fw | giy @& gftrem @1 siqum aase

[Question ID = 1107 1][Question Description = 52_qSNz_PG_GP34_0Q03]

1. E;&

3.6 3.6

[Option ID = 14281]

7o E;B

3.6 3.6

[Option ID = 14282]

3 E;&

3.8 3.8

[Option ID = 14283]
4, 2;2

3.8 3.8

[Option ID = 14284)]

Correct Answer ;-

2.5 ;&
3.6 3.6

[Option ID = 14281]

4) Study the given table carefully and answer the questions that follow

The given table has the number of students enrolled for different courses in 5 different years along with their male and
female categorization.

Year BSc BA BCom

M F M F M F
2016 380 220 520 405 200 80
2017 390 230 525 417 210 85
2018 395 235 535 427 212 87
2019 405 250 538 430 215 91
2020 415 275 543 438 221 97

2l o1F wevll ! ameneiigds ey aen s ofid e s1v gl @ gaz difam @

oir &t a1 avit 3 5 fatica aof 3 fafiea urgeragal 3@ amwikca el B dwn & o1f § aon fenffl o ory aen =wp ot givri 3
fusafSrer faar srn ¥ :

jReaz i | dla. dlia.
oI | Bl | BI] |9l Bk | ST
2016| 380 | 220 |520/405| 200 | 80
2017 | 390 | 230 [525/417| 210 | 85
2018| 395 | 235 |535/427| 212 | 87
2019 | 405 | 250 [538(430| 215 | 91
2020| 415 | 275 |543(438| 221 | 97

ad

Find out the average of difference between male and female students for the BA course during 2016-2020.

ad 2016 - 2020 9@ diaa it ¢ uigRiapA @ e ol A sryEil B JEar @ 302 @I Hd GaEe -



www.prepp.in

[Question ID = 11072][Question Description =52_qSNz_PG_GP34_Q04]

1. 105.3

[Option ID = 14285]

2. 109.2

[Option ID = 14286]

3. 108.8

[Option ID = 14287]

4. 107.4

[Option ID = 14288]

Correct Answer :-

* 105.3

[Option ID = 14285]

5) Study the given table carefully and answer the questions that follow

prepp

Your Personal Exams Guide

The given table has the number of students enrolled for different courses in 5 different years along with their male and
female categorization.

Yesr BSc BA BCom

M F M F M F
2016 380 220 520 405 200 80
2017 390 230 525 417 210 85
2018 395 235 535 427 212 87
2019 405 250 538 430 215 91
2020 415 275 543 438 221 97

2l a1F sl @ amensiiyds aféy aen s ofid e 1w gl @ gaz difamw @

ofr &t a1 amvit 3 5 fafica aof 3 fafiea argermgdl 3 aikca et B dwen & o1f § aon Aenffl o ory aen =wy ot gvri 3

fsnfSra Roar srem 3
ek jReaz i || dio. dlnia.
oI | Bl B3] |9l 3k | Sl
2016| 380 | 220 |520/405| 200 | 80
2017 | 390 | 230 [525/417| 210 | 85
2018| 395 | 235 |535(427| 212 | 87
2019 | 405 | 250 [53B(430| 215 | 91
2020| 415 | 275 |543/438| 221 | 97

Which year has the minimum percentage increase of male students in the college (including all courses)?

R and wicsr A o) Bt Fiw=n # gl o1 givrer ssera 361 2 (308 urerps wzqa) ?

[Question ID = 11073][Question Description =52_qSNz_PG_GP34_Q05]

1. 2017

[Option ID = 14289]

2. 2018

[Option ID = 14290]

3. 2019

[Option ID = 14291]

4. 2020

[Option ID = 14292]

Correct Answer ;-

e 2017

[Option ID = 14289]
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Topic:- GP_01DEC_SH2_B

1) What is the name of the concept to describe the magnitude of gains from any given change in an educational practice
and thus to predict what we can hope to accomplish by using that practice?

33 e bl Al @ ¢ e fpedt 9ifdne ugh 4 on uf¥ader 3t cmr &t Ay &1 avia fean wirn § 3l 53 yoor a1 Yalgae oemn 51 3l
2 It 391 ughy o1 ST &2 &1 g SRf QT @30l 6l 19 & JAGA 8 7

[Question ID = 11074][Question Description = 52_qSNz_PG_GP34_Q06]

1. Pluralism/agrmns (eir) [Option (D = 14293]

2. Argumentation/femdsr (amefitem) [Option 1D = 14294]
3. Effect size/orf ammz (adae JE=) [Option (D = 14295]
4. Empathy/aegaier (erel) [Option ID = 14296]

Carrect Answer ;-
& Pluralism /ageare (cefer=a) [Option D = 14293]

2) Identify the correct sequence for phases of personal growth in the non-directive interview process.
A. Develops insight

B. Integration

C. Release of feelings

D. Action

E. New orientation

Choose the correct answer from the options given below

oISy AIDBR Yuict 3 daipo RKeor < ool © #8t o 6 ueora i :
A, siméfte @1 forprar

B, warpoa

C. Fideen =1 foitast

D. R

E. adier atfdfeoara

oill 18w =1u fameul # A 1l Iz @1 T DI 2

[Question ID = 11075][Question Description = 52_qSNz_PG_GP34_Q07]

1. A, B, C, D, E [Option ID = 14297]
2. B,E,D, A, C[Option D = 14298]
3, C, A, D, B, E [Option ID = 14299]
4, C,E, B, A, D [Option ID = 14300]

1 1

T

Correct Answer ;-
« A B, C,D, E[Option D = 14297]

3) Given below are two statements
Statement I: Behaviour theory does not concentrate on observable behaviour.
Statement |l: Behaviour theory approach involves continuous inquiry.

In light of the above statements, choose the most appropriate answer from the options given below

ol <t werer Ru s & ¢

werd - | | saasn @ Rigia d Ygviia craerz uz garst oiga oidl Ko sirar 8
oo - | caaer & figia suem # Jaa yoare onfdia 8

SUftD Dol B arche #, R e s1e Ricsed 3 3 2R IUYTS FaE B TR G |
[Question ID = 11076][Question Description = $2_qSNz_PG_GP34_Q08]

Both Statement | and Statement [l are correct/wem | i |l dieif w1t & [Option ID = 14301]

Both Statement | and Statement [l are incorrect/wem | 3= || =i =iewr & [Option 1D = 14302]

Statement | is correct but Statement Il is incorrect/wem | 7 &, freg wem | sem & [Option ID = 14303]
Statement |is incorrect but Statemment [l is correct/wem | sumr &, ey oo | st £ [Option ID = 14304]

P bl B —

Correct Answer :-
« Both Statement | and Statement [l are correct/wem | &z |l St =t & [Option 1D = 14301]
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4) Which of the following are popular software (apps) used for conducting online conferences?
A. Big Blue Button

B. ZOOM

C. KOHA

D. Microsoft Teams

E. Moodle

Choose the correct answer from the options given below:

difcIcier Siow Aaq b e Sirot arcl Fedz (weH) & ugame Hifam
A, T - & acoT

B. 991

C. @&

D. azmriive &

E. 3z
i1 2w s1e faoeal 3 31 Tl oz o wRIar i

[Question ID = 11077][Question Description = $2_qSNz_PG_GP34_Q09]

1. A, B and C only/dae A, B 3z C [Option ID = 14305]
2. A, Cand E only/dae A, C 3tz E [Option ID = 14306]
3. A, B and D only/dae A, B 3tz D [Option ID = 14307]
4, C, Dand E only/=®== C, D #iz E [Optieon ID = 14308]

Correct Answer :-
o A, Band C only/@we A, B #iz C [Option 1D = 14305]

5) Match List | with List Il

List | List II

Erikson's Stages of Psychological DevelopmentRelevant lllustrations
A. Basic trust versus basic mistrust I. Parenting/ mentoring|
B. Industry versus inferiority Il. Love relationships

C. Intimacy versus isolation 1. School

D. Generativity versus stagnation V. Feeding

Choose the correct answer from the options given below:

it -1 B 3t -1l @ AR iR

e -| e -1

(thyasa pa afbia scidsnforr .

e e (zichifa Ferzn)

A smerrda frara gone suenya || enere - arers / averel gerer wien
R (3Rt / Setion)

B. ufbepr gomn Stora . Qa-wiciex

C. ancafizrar aonar warbiaet . e (za)

D. Fruremar s IREE V. s (Gif¥e)

i v s1e famseal % 31 At 3w giew
[Question ID = 11078][Question Description = $2_qSNz_PG_GP34_Q10]

1. A-1,B-1I,C-1Il, D- IV [Option ID = 14309]
2. AL B -1, C-1V,D- Il [Option ID = 14310]
3. A-IV,B-1Il,C-1I, D- 1 [Option D = 14311]
4. A-1I,B-1v,C-1,D- 1l [Option ID = 14312]

Correct Answer ;-
o« A-1,B-Il,C-1, D-1¥[Option 1D = 14309]

6) If the research is to be conducted on very young children or inarticulate persons, which one of the following methods
will be appropriate in this situation?

i aga Bl ddi el / 3l el @ oo 31 oiter wson a1, At 21 Rrarfer d orratfciRan o 3 @it - A ol sugze sieil?
[Question ID = 11079][Question Description =52_qSNz_PG_GP34_0Q11]
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Experiment/gawr [Option (D = 14313]

Survey/agsn [Option 1D = 14314]
Observation/Qgm [Option ID = 14315]

Case history/=1re g (P f&=<) [Option (D = 14316]

oW

Correct Answer :-
o Experiment/wist [Option |0 = 14313]

7) The objective of exploring the existing literature should be to identify which of the following issues?
A. What is already known about this area?

B. What concepts and theories are relevant to this area?

C. How to get funding for the research?

D. What are the significant controversies in this area?

E. Are there any inconsistencies in the findings of this area?

Choose the correct answer from the options given below:

e It @1 aan TPt @l 3ty msifolaa A A Reer freril @ usamt @wen akn § 7
A. 57 8 @ an § gelsw @ & ?

B. 531 8I 4 wiat - 3} Ficoouen asn Rigia yriffrs £ ?

C. oite1 @ e i diao f5a goore ’e=n amer ?

D. s 8l 9 Aerayyl fKac o= 3 7

E. @=n 531 &) o frwpdl d w=r i amieti E 7

i) f8u a1 fRepedl 3 A A6l Se @l w=s ifans :

[Question ID = 11080][Question Description =52_qSNz_PG_GP34_Q12]

A, B, Cand D only/mx A, B, C iz D [Option 1D = 14317]
B, C, Dand E only/=wm B, C, D iz £ [Option ID = 14318]
A, B, Dand E only/aas A, B, D &z E [Option ID = 14319]
A, B, C and E only/gae A, B, C afiz E [Option ID = 14320]

ol B

Carrect Answer ;-
® A, B, CandD only/dme A, B, C diiz D [Option 1D = 14317]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: A proposition is a statement about observable phenomena (concepts) that may be judged as true or false.

Reason R: When a proposition is formulated for empirical testing, it is called a hypothesis.

In light of the above statements, choose the most appropriate answer from the options given below

oftdr & wae Re o1 ¥ 1 v abdrwaar (Assertion A) @ w=a & iz gawr 3@ owrer (Reason R) D wa # .

sifireperat (A) @ aofare e ¥ Qarollr aeen (dgraa) a5 Rrag 3 oo werer slar § B @8 ar s1aa SEvRIT 5 Josar §
mrzer (R) : s/ ot andaraa o1 gftrarser srepife afteer & Rie e soar 3, A a5 grregen waarn §

IO weyell oF srenas #, ofl<l o Rasedl # 3 w8t sa3 o gwer @it ©

[Question ID = 11081][Question Description = 52_qSNz_PG_GP34_0Q13]

Both A and R are correct and R is the correct explanation of A/(A) 3fiz {R) gl =2t £ afiz (R), (A) &1 =& com=r & [Option 1D = 14321]

Both A and R are correct but R is NOT the correct explanation of A/{A) i3 (R) S=it 318 & uisg (R), (A) & 58 ;o= =t € [Option 1D = 14322]
A is correct but R is not correct/(A) =it 8 uzeg (R) sndt =t € [Option 1D = 14323]

A is not correct but R is correct/(A) =it =t € womgg (R) wat & [Option 1D = 14324]

oW =

Correct Answer :-
# Both A and R are correct and R is the correct explanation of A/{A) 3z (R) 3= = & afi (R), (A) &t = =mw=n & [Option ID = 14321]

9) Given below are two statements

Statement I: Context of discovery involves non-rational, intuitive processes while context of justification is based on logical
processes.

Statement |l: The process of hypothesis generation doesn't strictly follow rigorous logical reasoning.
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In light of the above statements, choose the most appropriate answer from the options given below

ol <t werer Ru s & ¢

el - | | yendior Fies d aafs®, Mom: Ysislea Yidgam onfdel € safs sfifirra Fiosl asereita Yiganii uz snenfsm gar &
werd - || 1 graseuen rafor Bt yigan 3 ook ademda oo & sigurctel oigt g1 &

IU=ITE Bl @ JAlclld 3, ol few famedl # 31 318l saz &1 w@el Hifse |

[Question ID = 11082][Question Description = 52_qSNz_PG_GP34_Q14]

1. Both Statement | and 5tatement [l are correct/wem | # || 9o w1t & [Option ID = 14325]

2. Both Statement | and 5tatement [l are incorrect/wermt | A& | Zisi siewr £ [Option (D = 14326]

3. Statement | is correct but Statement Il is incorrect/wem | 75 &, fveg e || =ewr & [Option ID = 14327]
4, Statement |is incorrect but Statement [l is correct/wsem | swrr 2, fomg oo 1 =8t £ [Option 1D = 14328]

Correct Answer :-
& Both Statement | and Statement [l are correct/wrem | 3z |l St =t & [Option 1D = 14325]

10) Match List | with List [l

List | List Il

Contexts Examples

A, Context of discovery ]I. From the particular to a generalisation
B. Inductive reasoning |II. Testing or verifying the hypothesis

C. Abductive reasoning |III. Hypothesis generation

D. Context of justificati0n|IV. Inference based on some observations
Choose the correct answer from the options given below:

it -1 B 3t -l @ AR iR

aredt -l ~ezige]l

(zice) (serez0n)

A. geedlaaon |, fafdree 3 sInRiIBw0T =6

B. smemencass awon |Il.q1ammm1qﬁmm5ﬂa
C. JAUSIHANIRD AU |III. STUICol QIadcdoll

D. sitRre IV. @ Qamil uz anenfe amgEo

iy v o1e faseal # 31 A8t 3w gfew
[Question ID = 11083][Question Description = $2_qSNz_PG_GP34_Q15]

1. AL, B -1, C- 1V, D- Il [Option ID = 14329]
2. A-IV,B-1l,C-1,D -1 [Option ID = 14330]
3. A-1,B-I,C-1l,D-IV[Option ID = 14331]
4. A-NI,B-1,C-1V,D- Il [Option ID = 14332]

Correct Answer ;-
e A-ll,B-1,C- IV, D- Il [Option ID = 14329]

11) Colour, as a means of communication, has meanings that mostly emanate from one's own

391, Sit fop AYHT o1 Uas A &, & aref A B, S aiftrasior safts & angot H g Bl 8

[Question ID = 11084][Question Description = $2_qSNz_PG_GP34_Q16]
1. Choices/fsea [Option ID = 14333]

2. Educational background/fiams grasgfr [Option ID = 14334]

3. Social status/zmmfes Redkr [Option (D = 14335]

4. Culture/zizage [Option 1D = 14336]

Correct Answer :-

& Choices/Rrsou [Option 1D = 14333]

12) Human communication involves
A. Patterned social interactions

B. Use of abstract meanings only

C. Conflict-oriented actions only

D. Neaural activities of the brain

E. Psychological activities

Choose the correct answer from the options given below:
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Arora Foeer i onfdrer § :

A. gftrsfia avanfSee srseiisatigan

B. waet s ared wor suRler

C. ©aa gog - sifdige Rge

D. saf¥aws &t rftror Rozmefteran

E. soirisniorr Rgareiiean

ol f8u a1 fRepedl d A A6l 37 @l w=s difens :

[Question ID = 11085][Question Description = 52_qSNz_PG_GP34_Q17]

A, Band C only/omm A, B iz C [Option 1D = 14337]
B, Cand D only/wam B, C &z D [Option 1D = 14338)
A, D and E only/d5am A, D aix E [Qption ID = 14339
C, D and E only/ssam C, D 4z E [Option 1D = 14340]

o B

Carrect Answer ;-
® A, BandC only/gsaer A, B sfiz C [Option 1D = 14337]

13) Given below are two statements

Statement I: A two-way communication takes place when the encoding and decoding are in operation with equal frequency
by two or more individuals.

Statement |lI: The communicator and the communicatee are related by the communication circuits and the success of
communication depends upen the level of reciprocity between them,

In light of the above statements, choose the most appropriate answer from the options given below

ofl &t werst Res1e ¥ ¢
et - | 2 Rl siguer ag & B 51 S ar @ & aftre wftval g waer sugly @ e @ Yidan ar Reidaer warfea §

werd - || sAduvreral (wagfordes) aen Aquedt (Togoribdl) FguoT ufyaedl A 513 Sid & aur JAYueT Bl Fwar Jord i ISH - Yoid 13
(RGiGiE omao) uz fonl: o=t 2

ITp DuEl & Alcls i, ¢ 6g a1e [escul A 3 wJdl 3az o @era $ifae ¢
[Question ID = 11086][Question Description = 52_qSNz_PG_GP34_Q18]

Both Statement | and Statement [l are correct/wem | i |l dieif w1t & [Option ID = 14341]

Both Statement | and Statement [l are incorrect/wem | 4= || gl =ieer & [Option 1D = 14342]

Statement | is correct but Statement Il is incorrect/wem | 7 &, freg wem | sem & [Option ID = 14343]
Statement | is incorrect but Staterment [l is correct/wem | sumr &, freg oo || st £ [Option ID = 14344]

bl D

Correct Answer :-
e Both Statement | and Statement [l are correct/wrem | iz |l Sat =t £ [Option 1D = 14341]

14) ldentify the correct sequence of the following types of visual communication.
A. Objects

B. Maps

C. Graphs

D. Photographs

E. Models

Choose the correct answer from the options given below

zee Hyuul & forrafartiaa gori & él afofad & usare Hiferm
A, axg (slfssragz)

B. morfary (3ic)

C. oo (JreT)

D. BRY (Brww)

E. gitamar (3iizer)
oifar 12w a1g faascal 3f 3 3Et 3az @1 a=Iar it

[Question ID = 11087][Question Description = $2_qSNz_PG_GP34_Q19]

1. A, B, D, C, E [Option ID = 14345]
| 2. A, E, C, B, D[Option ID = 14346]
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B, D, E, C, A [Option ID = 14347]
. C, A, D, B, E [Option ID = 14348]

B oW

Carrect Answer ;-
s A B, D, C, E[Option D = 14345]

13) Match List | with List I

List | lList I

Communication Cnmpnnentslﬂescript‘ian

A. Medium |I. Facts

B. Channel |II. Verbal and non-verbal signs

C. Codes |III. Route by which the message travels

D. Content information |IV. Physical means to transmit the message

Choose the correct answer from the options given below:

et -1 ot et 11 3 e if

el - et -l

(FGEvT B ) \(avier)

A, HEaH |I.Heﬂ

B. dotel |II. onféca TeI aronféca Tl

C. ax¢ 1. a5 aret Rrrd g siars s §
D. faaeazg &I et IW.EiﬂTE%WTE@Hﬁ[?ﬁTmHE{

a1k o oo Repedl 3 3 318l 302 gieme :
[Question ID = 11088][Question Description = 52_qSNz_PG_GP34_0Q20]

A-1,B-1,C-N,D-IV[Option ID = 14349]
A, B-1Il, C- IV, D -1 [Option ID = 14350]
A-Nll,B-1v¥, C-1,D- 1l [Option ID = 14351]
A-IV,B-1ll,C-11,D-I[Option ID = 14352]

bt B

Carrect Answer ;-
@ A-1,B-11,C-Il D-IV[Option ID = 14349]

16) What comes next in the following sequence?

1,2,3,7,16,65,7

Rrafttitian s # serlt A=n g 8 7
1, 2, 3,7, 16, 65, 7
[Question ID = 11089][Question Description =52_qSNz_PG_GP34_0Q21]

1. 225 [Option ID = 14353]
2. 321 [Option ID = 14354)]
3. 228 [Option ID = 14355]
4, 287 [Option ID = 14356]
Correct Answer ;-

a 235 [Option ID = 14353]

17) Given below are two statements

Statement I: A culture of bacteria quadruples every hour. If a bottle with these bacteria was half-full at 7 am, then at 6 am
on the same day, the bottle was one-eighth full.

Statement |lI: The average of the first 31 natural numbers is 16.5.

In light of the above statements, choose the correct answer from the options given below

T € Torer ke smo & ;

el - | ; el Silamy age & Fize & @t ag @z Fpll 81 Jrdl 8 Al W3 sitarpsil 31 Jvp od diad g 7 oot aneft sdt oft, ar a2t fer g
6 ol didel DI AGdl HIST 3121 A1

werat - || @ germr 31 grpa el ot afienT 16.5 3 &
IUTe WuEl & 3ilcl #, sl Br s1e fapeul 3 A A8 3 ©! @ difens
[Question ID = 11090][Question Description = 52_qSNz_PG_GP34_0Q22]
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Both Statement | and Statement Il are true/=em@ | 4z |l gl Ay & [Option D = 14357]

Both Statement | and Statement |l are false/mam | iz |l 3wl aser & [Option 1D = 14358]
Statement | is true but Statement Il is false/@ue | 7w &, Prog wem || smea @ [Option 1D = 14359]
Statement | is false but Statement Il is true/=get | sera &, Koo @eet || a2 [Option (D = 14360]

oW

Correct Answer :-
@« Both Statement | and Statement || are true/Trem | 4z || dmi Ii=r & [Option D = 14357]

18) Two trains are moving in same direction at 60 km/hr and 45 km/hr, The faster train passes a girl sitting in the slower
train in 15 seconds. The length of the faster train is

21 Yeentsal v E Rom A waor: 60 focielies / der aen 45 fooaidies/ der & o 3 a @ T o1 ara arcdt Yool iy acel arctt Yoerdt # 3@
fepalt asdbl @t 15 3ips 3 U o ol € o1 oma 3 acTor att Toendl &t darg g ;

[Question ID = 11091][Question Description = $2_qSNz_PG_GP34_Q23]
22.5 m [Option 1D = 14361]
225 m [Option 1D = 14362]
62.5 m [Option ID = 14363]
165 m [Option D = 14364]

a2

Carrect Answer ;-
& 22.5 m [Option 10 = 14361]

19) Six years ago, the ratio of the ages of Ravi and Laxmi was 6:5. Four years hence, the ratio will be 11:10. Ravi's age at
present is

g ad gd 2fa aer cget &6l 39 o1 aguia 6:5 en anfl 3 ar ad wg bl 391 @1 agard 11:10 3 soeen adenet d a6 39 2

[Question ID = 11092][Question Description = 52_qSNz_PG_GP34_Q24]
10 years/10 &« [Option ID = 14365]
18 years/18 o [Opticn ID = 14366]
12 years/12 o [Opticn ID = 14367]
16 years/ 16 o [Opticn ID = 14368]

-

Correct Answer -
e 10 years/10 = [Option ID = 14365]

20) A vendor marks all his goods at 50% above the cost price and then offers a discount of 25% on the marked prices. What
is his profit on the sales?

ferai araraer 2sit seIer Uz 33 ok Jog A 50% 31 aflre o iRoa wear & iz a| ag JiRkpa fea Uz 25% w1 w3 Yool o & el ae
3HI A M BT ;

[Question ID = 11093][Question Description = $2_gSNz_PG_GP34_Q25]
25% [Option ID = 14369]

12.50% [Option ID = 14370]

22.50% [Option 1D = 14371]

20.50% [Option 1D = 14372]

R

Correct Answer :-
& 25% [Option ID = 14369]

21) Analogies have been used for which of the following purposes?
A, Inductive reasoning

B. Deductive reasoning

C. Description

D. Explanation

Choose the correct answer from the options given below

HAEYIALN w1 FvRleT RafoRaa 3 3 feor 32gal @ Rm Rear s 8 ?

A. IFEHHERHT AT

B. ermemrae aoom

C. avla

D. susfiasaur

i) f8u a1e fRepedl d A A6l S0e @l w=m ifans

[Question ID = 11094][Question Description = 52_qSNz_PG_GP34_Q26]
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4, B and C only [Option ID = 14373]
A, B and D only [Option ID = 14374]
A, Cand D only [Option ID = 14375]
B, C and D only [Option ID = 14376]

N S PO L ey

Correct Answer :-
o A B and C only [Opticn ID = 14373]

22) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Naiyayikas do not accept non-apprehension (annpalabdhi) as a distinct source of knowledge (pramana).
Reason R: According to Naiyayikas, non-apprehension can be covered under inference (anumana).

In light of the above statements, choose the correct answer from the options given below

offa &t werer e s1w § 1w Afdrseer (Assertion A) @ =a & iy garer 35d wior (Reason R) & w=a & ¢
sifdreserat (A) @ SinRras sraer (rcoracfRen) @ et (gamen) @ o Brear Jia @ =a J rller sl o@
arzor (R) : SienRrest @ sropars ariier o) sigpirer @ s @ Ryaren s wovar §

IRITE el @ ke 3, »ikl [de rpodl i 3 w18l 30z @1 el Bifse &

[Question ID = 11095][Question Description =52_qSNz_PG_GP34_Q27]

1. Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) =il 3w & 4iiz (R), (A) & =&t s £ [Option 1D = 14377]

2. Both A and R are true but R is NOT the correct explanation of Af(A) 4z (R) Sl 50a 2 aweg (R), (A) & 28 =o=n @t £ [Option 1D = 14378]
3. Aistrue but R is false/(A) 3 &, uz=gj (R) s £ [Option 1D = 14379]

4. Ais false but R is true/{A) sz &, wieg (R) =g £ [Option ID = 14380]

Correct Answer :-
# Both A and R are true and R is the correct explanation of A/(A) 3tz (R) &t oie & 4tz (R), (A) & wd@t smm=n & [Option ID = 14377]

23) Match List | with List Il

List | List II

In Square of opposition Resultant

A. If 'Some flowers are pink’ is False l. 'I" is False; 'O’ is True
B. If 'No girls are birds' is True Il ‘A’ is False; 'E' is True
C. If 'Some boys are not tall’ is False 1. 'I'is True; 'Q is False
D. If 'All chocolates are sweet' is True IV. 'E' is False; 'I' is true

Choose the correct answer from the options given below:

et -1 Bt et -1 3 g if

et - 3t -1l

(feter agzey 9) (ufmreh)

A. ofe ' wol srard 3 oo 3 I snd sver B, o' wdt 3
B. af¢ & ‘asdbl agh ¥ &, 7 & Il. ¢ sl &, '$ aft &

C. af oo asd ¢ ol 3, o1 § Il ' wrdt 3 el st &
D. af? ‘mit dicde #S T, 7 2 IV, '§ arema B, "amd il 2

sl fon oo Repedl 3 3 318l 302 giene :
[Question ID = 11096][Question Description = 52_qSNz_PG_GP34_0Q28]

1, A-ll, B-Ill, C -1, D - IV [Option ID = 14381]
2, A-Nl,B-1IV, C-Il, D-I[Option ID = 14382]
3. A-1,B-1,C-1V,D- Il [Option ID = 14383]
4. A-1IV,B-1l,C-1,D- Il [Option ID = 14384]

Carrect Answer ;-
& AJlLB-1II,C -1, D -1V [Option ID = 14381]

24) Identify the fallacy committed in the argument below.
Some good actors are not strong men.
All professional wrestlers are strong men.

Therefore, all professional wrestlers are good actors.

Rroifetae s 3 3g 919 I usaw G ©
or e abim afitrs =alke &l aa &
3ft gitre usoraa afrs -afis 21 &
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[Question ID = 11097][Question Description = 52_qSNz_PG_GP34_0Q29]

1. Fallacy of Undistributed Middle/ sfaaia 25 & 3w [Option 1D = 14385]
2. Fallacy of Illict Major/fafig e =51 2w [Option 1D = 14386]

3. Fallacy of Ilict Minor/feftcg gar &1 3w [Option (D = 14387)
4. Fallacy of drawing affirmative conclusions from negative premise/BfEGTE AR O A GRS Beod e © o [Option 1D = 14388]

Correct Answer :-
# Fallacy of Undistributed Middle/ sRri &7 @n S [Option [D = 143385]

25) Anumana has been accepted as an independent source of valid knowledge by which of the following schools?
A, Buddhists

B. Naiyayikas

C. Carvakas

D. Mimamsakas

E. Advaitins

Choose the correct answer from the options given below

Rrrmteitian 3 Rew selarons 3 acpee ©f yamwT @1 Faxig, i For e orn & 7
A, dg

B. siRro

C. amks

D. dwiero

E. siga

ol fou s1e faepedl 3 3 A3l e @1 aus difene ©

[Question ID = 11098][Question Description = 52_qgSNz_PG_GP34_Q30]

1. Aand B only [Option 1D = 14389]

2. A, Band C only [Option ID = 143%0]

3. B, C, DandE only [Option I = 14391]
4. A, B, D and E only [Option ID = 14392]
Correct Answer :-

& A and B only [Option ID = 14389]

26) Which one of the following is a part of the processor?

forraifeifiad 3 3 wiol QIR Wl 5B HEIL & 7

[Question ID = 11099][Question Description = 52_qSNz_PG_GP34_0Q31]
Address bus/ez o= [Option 1D = 14393]

Data bus/ser 3= [Option 1D = 14394]

Cache memory/ <k i [Option 1D = 14395]

Control unit/ == gie [Option ID = 14396]

o kad R

Correct Answer ;-
o Address bus/o2a g [Option (D = 14393]

27) What is a disk defragmenter?

Ry fewsrdvesgar & 7

[Question ID = 11100][Question Description = $2_gqSNz_PG_GP34_Q32]
1. Rearrange blocks of data to store files in contiguous sectors/ag et (Sr1) & g (wifaw) 21 golarenia &3 forpery docz d 2o oaw € [Option 1D =
14397]
2. Check disk drives for empty space /s sw=F Bp T7ena © oW Bow =Ea &6 il (90p) o @ Bw fear aer & [Option D = 14398]
3. Compress data before writing it on the hard disk/seer sude o Brw w2 Rm @ gd aiws! ot A0 (i) o & Pe fear swar @ [Option 1D = 14399]
4. Carry out a backup procedure/sr 3wz anriEt=t qiea (G0 g geise) o FaEa oo © fw fem o & [Option 1D = 14400]

Correct Answer :-
e Rearrange blocks of data to store files in contiguous sectors/@E aFpst (swT) @ Heg (wia) ol geodareniin o2 Procsd dacz d 2e owa £ [Option ID =
14397]

28) Given below are two statements regarding the Hard Disk Drive (HDD)

Statement I: HDD use circular platters coated in magnetic material.
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Statement ll: Access to data is faster than with RAM

In light of the above statements, choose the correct answer from the options given below

a5 a1 2vw gra (oodls)) 45 Riae 3 §) wae Rese 8 ;

werot ~ | @ wadlSt gradia aored # At garer ol o ot we §
averat - || : w23 S| ) geron & snwst o aftre Ay aifer A aga s o 3
s wael @ Al 3, oA v s1e Rroseal 3 3 w18l sae o avar B ©

[Question ID = 11101][Question Description = 52_qSNz_PG_GP34_0Q33]

1. Both Statement | and Statement |l are true/mem | 4z || gl =g & [Option 1D = 14401]

2. Both 5tatement | and Statement |l are false/wem | 37 || 3wt e & [Option |0 = 14402]

3. Statement | is true but Statement Il is false/mamt | 77 &, Prog wea || s & [Option (D = 14403]
4. Statement | is false but Statement Il is true/m= | sera 8, Koog et || i 2 [Option (1D = 14404]

Correct Answer :-
e Both Statement | and Statement |l are true/mem | #i= |l S Ia £ [Option D = 14401]

29) Which of the following statements regarding Modems are correct?
A, It is used to convert digital data into analogue

B. It also converts analoque data into digital data

C. Sends the data packet to specific addresses

D. Inspects data packets received over the internet

Choose the correct answer from the options given below

ofld Hidw @ an # wo vy RA >/ § 1l weel o giow

A. s soriler RiSrear aiwst o goa wa (verreier) 3 ubrafiia o @ Rre Bear snar 8
B. w5 gea wa (gondien) o RidSca anayst # »0 afvaffa o 3

C. =g s1er tel @1 fafdre ol (v3l) @o e 2

D. a1z scvaic us gid ST Uil ol Britsor wen 3

ol f8u a1 fRepedl d A A6l 307 @l @=s ifens :

[Question ID = 11102][Question Description = 52_qSNz_PG_GP34_0Q34]

1. A, Band C only [Option ID = 14405]
2. B, Cand D only [Option ID = 14406]
3. BandC only [Option 1D = 14407]
4. A and B only [Option ID = 14408]

Carrect Answer ;-
# A B and C only [Opticn ID = 14405]

30) Match List | with List Il

List | List Il

Network Addres:‘.es]Re:‘.pective Layers
A. IP Address |I. Application Layer
B. MAC Address ‘II. Network Layer
C. Socket Address |III. Transport Layer
D. URL Address IV, Data Link Layer
Choose the correct answer from the options given below:

et -1 Bt et 11 3 g if

och -| eh -l

(Gicads w3a) (zisitr orrz)

A. airé ot 33 . aRerderer A
B. iw u3ar Il. dicads daz
C. sidbe w3 . gizlé drm
D. Farewe 633 |IV. 3Iel féi oRE

oY o a1 [ameddl 2 A 2l Fme g :

[Question ID = 11103][Question Description =52_qSNz_PG_GP34_0Q35]
| 1. A=, B -V, C- 1, D -1 [Option ID = 14409]
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| 2. A-1,B-11,C-1ll, D- 1Y [Option ID = 14410]
3. A-1,B-1¥, C-1l,D -1l [Option ID = 14411]
4. A-N,B-1,C-1,D- IV [Option ID = 14412]

Correct Answer :-

e A-Il,B-IV,C-IIl, D-I[Option ID = 14409]

31) Eutrophication in a water body leads to which of the following?
A. Bloom of algae

B. Increase in the level of dissolved oxygen (DO)

C. Increase in turbidity and odor of the water body

D. Difficulty in sustaining normal aquatic life

E. Deficiency of nutrients

Choose the correct answer from the options given below;

Up SICH9RI & JUIUwT (FLIfibaheret) & worasy !

A. diama (eoeil) orbt aruse 8l &

B. =t e szl (f at) 3w & gfp ot 2

C. SremeRI 3 sicerst e 33t sitl @ w3 # ghy arit &

D. s swrsiia @ ddiaer d ofdend gkdt 3

E. dlwir aea 3 @t &I sIwdt 8

oiil 6w 1w [dweul 4 3 w18l Iz @I wRs Hifg ¢

[Question ID = 11104][Question Description = 52_qgSNz_PG_GP34_Q36]

A, Band Conly/Tmm A, B iz C [Option 1D = 14413]
B, C and D only/wam B, C &z D [Option 1D = 14414
A, Cand D only/asm A, C & D [Option 1D = 14415]
. C, Dand E only/gam C, D & E [Option ID = 14416]

bt B

Correct Answer :-
# A Band C only/dam A, B afiz C [Option 1D = 14413]

32) Which of the following has positive radiative forcing or warming effect in the global climate?

gcil &t SRy @ Ionwae krowvii aa gem @weel srer st slol @ FHaer 3 bseiciRaa d 3 @il Fweeril & 7

[Question ID = 11105][Question Description = 52_qSNz_PG_GP34_0Q37]
1. Tropospheric Ozone/siwmisa @1 aitsiter [Option (D = 14417]

2. Stratospheric Ozone /I o sisia [Option 1D = 14418)

3. Sulphate Aerosol/wcde vitsa [Option 1D = 14419]

4. Sulphur dioxide/#ew: smaiiaerss [Option D = 14420]

Correct Answer ;-
e Tropospheric Ozone/ sierst @ aitsier [Option (D = 14417]

33) Given below are two statements
Statement I: Methanol {CHz0OH) also known as wood alcohel and has a much higher octane rating than gasoline.

Statement |I: Methanol burns with higher flame temperature than gasoline or diesel. Thus, it produces a higher amount of
NOx,

In light of the above statements, choose the correct answer from the options given below

o & e Re ag  :
ool - | @ Jeeiial (CH20H) 53 oo srceplsie o1t el =i &, <1 Jiircot foreizvn Sidldlia i dgoron 3 wrbl sifine gier 2

werd - || : Fremwmiial sSEAfa srern Sisrer &t goron 3 Aftrr aoa ol arapA @ AT S $ 37 331 PR 9 NOX ot aifise s 3 sousor @
2

IRfvo Dl @ Jciid 3, ofl fu a1 famseal 3f 31 3t Tz I @=rer Hifore
[Question ID = 11106][Question Description = $2_qSNz_PG_GP34_Q38]

1. Both Statement | and Statement |l are true/wem | 3= || @i 3= £ [Option ID = 14421]

2. Both Statement | and Statement [l are false/wem | 4 || giei s £ [Option D = 14422]

3. Statement | is true but Statement Il is false/ @ | v &, Rveg o | s 2 [Option (D = 14423]
4, Statement | is false but Statement 1l is true/wem | spm &, Romg a1 s 2 [Option (D = 14424]
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Correct Answer ;-
e Both Statement | and Statement |l are true/mm | diz |l S=t A & [Option (D = 14421]

34) Who is the Executive Head of the National Disaster Management Authority (NDMA)?

IACERT TSI Yderd Qiierev (Uol 31 uH §) &I DRIGT eas] Bid & 7

[Question ID = 11107][Question Description = $2_qSNz_PG_GP34_Q39]

1. President of India/#sa s seeuiey [Option 1D = 14425]

2. Prime Minister of India/ssa & queict [Option (D = 14426]

3. Chief of the Army Staff/<iw JifE 5 aml zerw [Option (D = 14427)

4. A member of Parliament appointed by the President/Iwcuict grr forfe v zivie 3iged [Option 1D = 14428]

Correct Answer :-
® President of India/smra &1 awefer [Option 1D = 14425]

35) The primary treatment of wastewater involves removal of
# 9 Sran (A aws) @& grafies soms 3 B s sar 3 ?

[Question ID = 11108][Question Description = 52_qSNz_PG_GP34_0Q40]

1. Solids/zia [Option 1D = 14429]
2. Colloids/wkmss [Option 1D = 14430]
3. Organic water/3ifoee apgféme [Option 1D = 14431]
4. Microorganisms/3gwsia [Option 1D = 14432]
Correct Answer -
s Solids/ar [Option 1D = 14429]
36) NSFQ organises qualification according to series of levels of
Tol GH & U Rpow © vz A 9olt & sigrar Alsaanii @l caaleaa wem 3 7

[Question ID = 11109][Question Description = 52_qSNz_PG_GP34_0Q41]
1. Knowledge, Skills, Experience /s, wigret, srpr [Option ID = 14433]

2. Skills, Experience, Aptitude /wiowr, smsm, afdght [Option D = 14434]

3. Knowledge, Skills, Aptitude/=mer, wiem, arfémafer [Option 1D = 14435]

4, Skills, Achievement, Aptitude florT, auwRy, afirfs [Option 1D = 14436]

Correct Answer :-
o Knowledge, 5kills, Experience/sm=, wisrm, amprr [Option 1D = 14433]

37) Which one of the following is not an objective of higher education?

foraoiteilian A 31 oia 3ca en o1 8ea 7@l & ?

[Question ID = 11110][Question Description = 52_qSNz_PG_GP34_Q42]
1. Teaching/azngm [Option ID = 14437]

2. Research/gizr [Option ID = 14438]

3. Improving literacy levels/zmss 2z 3 3pme [Option (D = 14439]

4. Career Development/£fe o fmter [Option D = 14440]

Correct Answer -
® Teaching/samua [Option 1D = 14437]

38) "Destiny of India is being shaped in her classrooms", This is stated in

"I o s o Pfor sadt wansit A Reer sr s g

qE & s IR 3
[Question ID = 11111][Question Description = 52_qSNz_PG_GP34_0Q43]

NPE -1986/5= f 2 - 1986 [Option 1D = 14441]
NKC report/os & 7t faid [Option 1D = 14442]

Education Commission/fgen amiet [Option 1D = 14443]

University Education Commission/fraffenerr foren et [Option 1D = 14444]

-

Correct Answer -
& NPE -1986/war i € - 1986 [Option ID = 14441]

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Environmental education makes individuals aware of environmental issues, explore and analyse causes and
effectiveness of the issues, and promotes environmental sustainability.
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Reason R: It is very essential to think and act creatively to become technically capable and trained to approach
environmental issues in a proactive manner,

In light of the above statements, choose the most appropriate answer from the options given below

i) ot weaet Rw s1w 3 © wep afdnpera (Assertion A) @ u # 3iiz o1 33 wrwt (Reason R) D wa 4 &

fiseret (A) | galazor sl Bign 3 <fts uaiawor ddedl faeel B aererdt g o 8, 39 el & vl aen Yyl o Udl deims: 33D1
feevaur azar 2, sz vafafl enzofterar & agar 2ar 2

@101 (R) : @E aifi amaeers 2 s gar gaafazer dHEef faaeii & ant 3 ssiorcas wu 2 AR sz oRf o8 daen oo faadl @ giiy age et &
ferator 2 aroeticbt Ta A @z sfiz Fyfdem 3

IRRG W] & Ao A, sl Ry eodl # 31 38t 3az @1 o= St
[Question ID = 11112][Question Description = 52_qSNz_PG_GP34_0Q44]

1. Both A and R are correct and R is the correct explanation of A/(A) siiz (R) st =8 £ &fiz (R), (A) & =8 woz=n £ [Option 1D = 14445]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3 (R) o= =t & memg (R), (A) &t 5t s =ndt £ [Option 1D = 14446]
3. Ais correct but R is not correct/(A) 3t 8 uieg (R) 38 =& £ [Option 1D = 14447)
4. Ais not correct but R is correct/{A) 5 &8 & wiog (R) 3# 2 [Option ID = 14448)

Correct Answer ;-
& Both A and R are correct and R is the correct explanation of A/({A) 3z (R) gl =t & afie (R), (A) & =2t o € [Option 1D = 14445]

40) Given below are two statements

Statement I: The Hansa Mehta committee made a recommendation that there is a need to make differentiation in
curriculum on the basis of sex.

Statement |l: Bhaktavalsalan committee recommended that the government and public should both act jointly, realise their
responsibilities and proceed in a planned manner with regard to education of girls in future.

In light of the above statements, choose the most appropriate answer from the options given below

oiler &1 wee Re sie 3 ;
weret - | 1 1 Az wbif & s ey 6t si By Rist @ anenz az Bien &t aroacrt 3 Radkoyor #5 amaeaewar §

wad - || @ srpacacs wiife 5 Breifrer ot oft B sifdrsr 3 asRowl &t 21en & dder d s a2 s Sl ©f Berss ort o a2y,
AUoil FreAcIiEl ®f Ae Dol TRE Tl Alaldy; [af21 31 31el agar aize

ITe DuEl & Alcls i, ¢l 6T s1e [docul # 3 w78l 3az oI @era $ifae ¢
[Question ID = 11113][Question Description = 52_qSNz_PG_GP34_0Q45]

Both Statement | and Statement [l are correct/wem | i |l dieif @t & [Option ID = 14449]

Both Statement | and Statement [l are incorrect/wem | 4= || =i =iewr £ [Option D = 1445(]

Statement | is correct but 5tatement Il is incorrect/wer | = £, fireg wem |l s & [Option 1D = 14451]
Statement |is incorrect but Staterent [l is correct/wem | s &, ey oo | 2t £ [Option ID = 14452]

kBRI —

Correct Answer :-
e Both Statement | and Statement [l are correct/mrem | iz |l S=i =dt £ [Option 1D = 14449]

Topic:- GP_O1DEC_SH2_C

1) Read the given passage and answer the questions that follow

Besides being hailed as a technology which can deliver the 'global village’, the Internet is also promoted as a singular
medium which allows for democratised processes which were not previously possible in the era of broadcast. but what Kinds
of democracy are being postulated here? Traditionally, and more than ever now, democracy is heavily aligned with the
nation-state. Because of this, no sense is made of the claim that the Internet enables universal participation in the
democratic process, The point here is the practices of communication afforded by computer-mediated communication may
able to substitute some of the functions of the mass media- for example, in the formation of pre-institutional public opinion.
But these practices do not necessarily exert pressure on the institutional apparatuses of politics. Of course, the mass media
themselves, as a means of electronically mediated communication, can never replace the institutional apparatuses of
politics, and as found out by numerous studies, have been just as much used by politicians as they have influenced them.
The internet can be classified as a global technology, which enables connections with individuals and institutions overseas
just as easily as it does nationally, regionally or locally, If there is an imagined community on the Internet, it is definitely not
the nation-state. State bounded kinds of citizenship cannot be considered coterminous with the kinds of citizenship which
are achieved on the Internet., However, this is not to argue that a global sense of citizenship, even if it too is an "imagined
one', cannot exist. Recent protests against international financial institutions such as the World Bank were organised almost
entirely through Internet media - a case of not-so-visible electronic assemblies producing very visible embodied assemblies,
But even that the experience of community on the Internet is not limited to national boundaries, it is also important to
consider the shape and structure of virtual communities.
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foramtertiaa srerion oY ufgw sz gesl & 3az 8w ;

'$eroie’, o giznferb & wu 3 off sen smar 8, "affas s’ ygel 5F Adan 8 aeir 531 B SEenIuT A @ w0 i oft aeran e amar € S
it el gidpenaii @ gaer waan & S gARv @ fioa got1 A s o an  u3qg a1 fes gopr & o B 9 6t s 38 § ? uRsuise
=0 3, aer yd &l geton # il diddyg, 7reg - w59 A arcaliee AT 3 33 o1, $A 21 ol o aref adl s sewole diwaifie gfegan i
ardsiifies weflcrdt & fre wael o 8 asi a5 sediseia oa 3 5 wrger srafda dor prr aase dar gigand sior Hdar @ o ordt ol
gftrrenfin oz awedl E - e, gd - Fizensa sea @ ein # useg A 58 @l § fr 3 yfoeme et & svenesa oy uz zam sl
forzics Tarl ol FaR soacifors U 31 =iafda Fenz & Anee & U 3F TE6il & Fremsa dy o ot gitrrenfoa orft @5z wasar aitz Siar s
3K 31ETRIll A Ul Tl & [ $3ep1 IURIleT Irsroirail of JIftre e 3 Ry adifRs 3osicl 531 Pk fen 3 $evoic ©f 'dfaw YieilBPrbl’ & w»u
# goiipya fooan o1 Trodr 8 i) fader frent wartenal ar HFemsil 3 Jaell 3t vl 3 Aus ol Ha dgen Aed 3 fandeil sl 31 a8 asl,
Bxeftr srerar rereflRy ¥s a3 @ @wa 3 Al foveic uz ©F oeafsir ager 3, A Biffra wa A ag e - ww wifl B wsw - afYag sneifyasar
W Sit gepiz &, d el off seveie ur g emeifyeal @ gepiz &l g - SDICKD oiél Alell Sl TRbAl A, g Sl oiél [ieen o Frpal [ seiismar
o At el #, sy &l 718 SIcufors TSSOl & Ybiz 81, ol afiaoa ol 8l Imar sinzeed fandkr drancil wen ffra §o & faeg oonm
guia: $coic AKAA A g 3 A KR w1 siRisel Ko oR1 an - &g aeaitnn ruse alakm  agcrn o1 Hoilvl weel armr deu FUtw sekigiions
A ol faw & udg aE 2md gu o devere U I o aighia IR I aos 4 Hfifia ot B, ammelt FIgerl & s asn Jordh) HTaen
oz it Ry wen s 3

Internet is considered as a prime medium for its

geoic @l YgEa Aareas Reafem aner s 8 ?

[Question ID = 11114][Question Description = 52_qSNz_PG_GP34_0Q46]
1. Far-reaching accessibility/ sl gt uga & fm

[Option ID = 14453]
2. Promotion of a new type of democratisation/sirsddiaro & o2 geeE &) aaE 3o & g

[Option ID = 14454]
3. Position as a technological medium/Ji=iErE: wmam @ Fu 3 bt Dl © B

[Option ID = 14455]
4, Better than the broadcast medium /gam s 3 535 a0 219 & TR0

[Option ID = 14456]

Correct Answer ;-
e Far-reaching accessibility/sadi gronedt uga o e

[Option ID = 14453]

2) Read the given passage and answer the questions that follow

Besides being hailed as a technology which can deliver the 'global village’, the Internet is also promoted as a singular
medium which allows for democratised processes which were not previously possible in the era of broadcast. but what Kinds
of democracy are being postulated here? Traditionally, and more than ever now, democracy is heavily aligned with the
nation-state. Because of this, no sense is made of the claim that the Internet enables universal participation in the
democratic process, The point here is the practices of communication afforded by computer-mediated communication may
able to substitute some of the functions of the mass media- for example, in the formation of pre-institutional public opinion.
But these practices do not necessarily exert pressure on the institutional apparatuses of politics. Of course, the mass media
themselves, as a means of electronically mediated communication, can never replace the institutional apparatuses of
politics, and as found out by numerous studies, have been just as much used by politicians as they have influenced them.
The internet can be classified as a global technology, which enables connections with individuals and institutions overseas
just as easily as it does nationally, regionally or locally, If there is an imagined community on the Internet, it is definitely not
the nation-state. State bounded kinds of citizenship cannot be considered coterminous with the kinds of citizenship which
are achieved on the Internet, However, this is not to argue that a global sense of citizenship, even if it too is an "imagined
one', cannot exist. Recent protests against international financial institutions such as the World Bank were organised almost
entirely through Internet media - a case of not-so-visible electronic assemblies producing very visible embodied assemblies,
But even that the experience of community on the Internet is not limited to national boundaries, it is also important to
consider the shape and structure of virtual communities.

foramtertiaa srerion @Y ufgw sz gesil @ 3az 8w ;

'$eroie’, o giznferbl & = 3 off sen smar 8, "affas s’ ygel 5 Adan 8 a9 531 B eI A @ w0 i oft aeran fen @rar € S
it cllrddiea gitpenaii o gaer waar & S gARv @ fioa gor d s ot an  u3qg aJwi fpe ger & oo &1 9 6t o 38 § ? uRsuise
o0 A, e gd &l geton d il ailode weg - Ie A Araliee Ao 3 DIevl, 33 21d @l ©iF A ol kb sevele alddliee Yiaar d
arhiifiir wellcrdt @ R wwel waar 8 wsi as sodismia @a 3 5 wicger srafda dowr prr aoser dar gignd si6r dar @ g orl ol
gitrrenfing @z Al § - aar, gd - Fveem sona @ Bl d geeg 3 s @@ § e 3 giore aeeiittn & svemsm d ue sam sid
fors=ice o=l ool #ar soRRiford U 31 wIafad Fens @ A & U 3 A6l & Jdreea do o ol gitrentia oidt o s ait siar e
310K 31ERIell A Ul Tl & [ $3ep1 IURIleT Irstoirail of Jiftre fen 3 Ry adifs osicl 531 PR fen 3 $evoic ©f 'dfaw QieilFrbl’ & w»u
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# golteya Rar s wovar & o Rider Rrara valRpa aer Hremal A 3ol 8 snansht 3 daw ot s aar oo 3 Biaelt ameansht 3 a5 o=,
£refi= arerar FeImGiieL 3T Uz @ Jodl § Al 3ciole ur B wrcufors WK §, Al fafia wu 3 ag awg - e ol & W - ufyag omeifyean
ay ot e 3, & sl of sevdic av g snetiyosar @ goie @1 7E - wifers ol wen s Feear a2, a5 orn oY e s e [ sielYosar
@D Al aref &, s & A wroubir aEityear o QiR 8, o alaca a8 @ I iR Rl dvarat aen fiva o @ Rieg ceneEt
gufa: sezole Areaa A grel & 3 faR1e o aRiise e F1n o - a8 Aeaiire ruse Afdafea Fgeer o1 fominn o) arar scu Fuse soladifons
Fgcas o Raa B odq a5 Swr e By $oedic a3 agorr o e aodk e axp & i aift 3, smemeft agorn @5 smoste aen Jerdbt Fivaen
uz 9ft ferar @wen aaeaw &

Even now the nation-state influences

ree - T3 andl oft fopdy qanfera o & 7

[Question ID = 11115][Question Description = $2_qSNz_PG_GP34_Q47]
1. Its citizens/sad aEiss &
[Option ID = 14457]
2. [ts imagined communities/srE oeulEer IHoRT 11
[Option ID = 14458]
3. The democratic process/zirsaiies qiegmall =1

[Option ID = 14459]
4, The globalisation concept/&ediarzo & amemon 1

[Option ID = 14460]

Carrect Answer ;-
& |t5 citizens/sadr AERaE o
[Option ID = 14457]

3) Read the given passage and answer the questions that follow

Besides being hailed as a technology which can deliver the 'global village', the Internet is also promoted as a singular
medium which allows for democratised processes which were not previously possible in the era of broadcast. but what kinds
of democracy are being postulated here? Traditionally, and more than ever now, democracy is heavily aligned with the
nation-state. Because of this, no sense is made of the claim that the Internet enables universal participation in the
democratic process. The point here is the practices of communication afforded by computer-mediated communication may
able to substitute some of the functions of the mass media- for example, in the formation of pre-institutional public opinion.
But these practices do not necessarily exert pressure on the institutional apparatuses of politics. Of course, the mass media
themselves, as a means of electronically mediated communication, can never replace the institutional apparatuses of
politics, and as found out by numerous studies, have been just as much used by politicians as they have influenced them,
The internet can be classified as a global technology, which enables connections with individuals and institutions overseas
just as easily as it does nationally, regionally or locally, If there is an imagined community on the Internet, it is definitely not
the nation-state, State bounded kinds of citizenship cannot be considered coterminous with the kinds of citizenship which
are achieved on the Internet. However, this is not to argue that a global sense of citizenship, even if it too is an 'imagined
one', cannot exist. Recent protests against international financial institutions such as the World Bank were organised almost
entirely through Internet media - a case of not-so-visible electronic assemblies producing very visible embodied assemblies.
But even that the experience of community on the Internet is not limited to national boundaries, it is also important to
consider the shape and structure of virtual communities.

foramfeifiae smEner @t ufey 3iiz geal @ Iaz Sifdm

‘$evoic , Tora giciBrb & u 3 oft e o 8, "G S’ o T Jhdl § AL S B IRIIERYI JAIETH B U A oft | Rar arr 3 S
Ut elienrddiaa gl o gder wal 3l QAR & o go1 d dna ol o ud I8l e yor & diddc o1 arvt o8l on #t 8 7 ursafys
w=a H, aar gd & geren # el g g - w5w A scafier @i B s onen, s ol o o1 s sl [ $ovaie awaifee giigar #
Frchiifds spficrdt & R wwef T 8 uel U scoseiig a1 E R Txies walga dme g Suces] J3ar giipan | daRr & % ORI ®f
gftrrenfing oz Aol 2 - e, gd - Fizensia soa @ forainr & uved I S5 ot 2 6 3 gl weeifa & dvemea dq us gama sl
forsvice ToFl 5161 JAR SOACihRD WU 3 RERd AR © A © T4 A Aol O JAFEE o o Ol gitzenftn ol @ s siiz Sia e
oKD ARGl 2 Ul adl £ o6 $3Rb1 JU=IeT Ietoraridl of AfPrD fewn 3 i a=iifcs Sodicl 331 Yuuifda fisan 8 devoie @) "dffaw qiznfRrbl’ & =u
# goftaya Rsar s wovar & o Rder Rrar salRpe aer Fzersil A soelt 8 anansht 37 daw o s g o 3 Biaelt amensht 3 a5 asdl=,
£refi= arerar FeImGie 3T Uz @ Ahdl & Al 3ciole uR B Srcufors WK §, Al fofia wu 3 ag I - e &dl & 3 - ubyag omeifyean
o S gz &, a it off Seveie e gra oneifyasar & Qpiz T 18 - I oidl Alel S Jdan a2y, Iz g oigl faeen on apanl s smsiismar
@ Al aref #, s 3 A oroubir aEiyear o gz 8, o alaca a3 @ I iR Rl dvanat aen [ra o @ Rieg oeneEr
gufea: sezole Areaa 3 aral & A e o1 aRiste e a1 o - a8 eaiire ruce Afafea sy o1 foninn &30 arar acu Fuse soladifons
agcas o Raa B odq a5 Sur e By $oedic a3 agorr o e ik e axp & i aft 3, smeieft agernt @5 smoste aen ordst Fivaen
uz 9ft e @war saeaw &
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In what way, can the internet play a role in modern society?

Fowoie v goor sutlfora saims 3 o gl i sasdt 3 ?
[Question ID = 11116][Question Description = 52_qSNz_PG_GP34_0Q48]

1. By shaping institutional public opinion/dzuerT wema a1 BEfm

[Option ID = 14461]
2. Being a substitute to traditional broadcast media/mrafys aewem F gffweniia o=
[Option ID = 14462]
3. By taking an active part as a political institution/T==iter dzene @ =0 & 3fca airm & v A

[Option ID = 14463]
4. By playing a supportive role te conventional media/uzeules mezm & Feleh gfime forn @

[Option ID = 14464]
Correct Answer ;-
® By shaping institutional public opinion/zsemerT s o el o

[Option ID = 14461]

4) Read the given passage and answer the questions that follow

Besides being hailed as a technology which can deliver the 'global village’, the Internet is also promoted as a singular
medium which allows for democratised processes which were not previously possible in the era of broadcast. but what kKinds
of democracy are being postulated here? Traditionally, and more than ever now, democracy is heavily aligned with the
nation-state. Because of this, no sense is made of the claim that the Internet enables universal participation in the
democratic process, The point here is the practices of communication afforded by computer-mediated communication may
able to substitute some of the functions of the mass media- for example, in the formation of pre-institutional public opinion.
But these practices do not necessarily exert pressure on the institutional apparatuses of politics. Of course, the mass media
themselves, as a means of electronically mediated communication, can never replace the institutional apparatuses of
politics, and as found out by numerous studies, have been just as much used by politicians as they have influenced them.
The internet can be classified as a global technology, which enables connections with individuals and institutions overseas
just as easily as it does nationally, regionally or locally, If there is an imagined community on the Internet, it is definitely not
the nation-state. State bounded kinds of citizenship cannot be considered coterminous with the kinds of citizenship which
are achieved on the Internet, However, this is not to argue that a global sense of citizenship, even if it too is an 'imagined
one', cannot exist. Recent protests against international financial institutions such as the World Bank were organised almost
entirely through Internet media - a case of not-so-visible electronic assemblies producing very visible embodied assemblies,
But even that the experience of community on the Internet is not limited to national boundaries, it is also important to
consider the shape and structure of virtual communities.

formttrtian srerion oY ufgw sz gel @ 30z 8 ;

'$erore’, form giznferbt & wu 3 off sen Fmar 8, "affas s’ ygel 5 Adan § el $31 B SELnIuT Al @ w0 i oft seran e amar € S
it el gitpenaii @1 gaer waar & S gARv @ fioa go1 | sm o an  u3qg aJwi e ger & dipg 61 9 w6t o 38 § ? ursuise
0 A, e gd &bl geton d il cilkbde weg - e A Hralice FAiferd 31 DvI, 33 o1d o ©1F A oifl kb sevele alodliee yiagar d
ardsiifiier wellcrd & Rre wwel o 8 asi as sodiseia @a 3 s wiger srafda dor prr saoser dar g si6r dar @ o ort ol
gitrrentina @z wwdl & - wer, gd - Fvemer soea @ Berivn d ueeg A st w8 § R 3 gitcae aeeiittn & sivemsm d ue sam sid
forzsics Tarl oal Far soacifors U 31 wiafga ez @ Ane & U F TE6iiy & Frems d o ot gitrenfoa orft @52 wasar aitz Siar e
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What is the main weakness of the Internet?

feaie &t gua wasd aa § ?

[Question ID = 11117][Question Description = 52_qSNz_PG_GP34_Q49]
1. It cannot produce a global sense of citizenship /= sy &t o simaen ter =i o2 s

[Option ID = 14465]
2. Virtual citizenship is coterminous with national citizenship/ st sefean aeda s & awe £

[Option ID = 14466]
3. Electronic media is more powerful than the Internet/seriiforr Biffer sk 3 afinr sffrorct &
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[Option ID = 14467]
4. |t cannot substitute political institutions /i IoElE dzenel B QiR sl ©F T

[Option 1D = 14468]

Correct Answer :-
e |t cannot produce a global sense of citizenship/=z et 5 %y s S o oz Jan
[Option ID = 14465]

5) Read the given passage and answer the questions that follow

Besides being hailed as a technology which can deliver the 'global village’, the Internet is also promoted as a singular
medium which allows for democratised processes which were not previously possible in the era of broadcast. but what kinds
of democracy are being postulated here? Traditionally, and more than ever now, democracy is heavily aligned with the
nation-state. Because of this, no sense is made of the claim that the Internet enables universal participation in the
democratic process. The point here is the practices of communication afforded by computer-mediated communication may
able to substitute some of the functions of the mass media- for example, in the formation of pre-institutional public opinion.
But these practices do not necessarily exert pressure on the institutional apparatuses of politics. Of course, the mass media
themselves, as a means of electronically mediated communication, can never replace the institutional apparatuses of
politics, and as found out by numerous studies, have been just as much used by politicians as they have influenced them.
The internet can be classified as a global technology, which enables connections with individuals and institutions overseas
just as easily as it does nationally, regionally or locally, If there is an imagined community on the Internet, it is definitely not
the nation-state. State bounded kinds of citizenship cannot be considered coterminous with the kinds of citizenship which
are achieved on the Internet, However, this is not to argue that a global sense of citizenship, even if it too is an 'imagined
one', cannot exist. Recent protests against international financial institutions such as the World Bank were organised almost
entirely through Internet media - a case of not-so-visible electronic assemblies producing very visible embodied assemblies.
But even that the experience of community on the Internet is not limited to national boundaries, it is also important to
consider the shape and structure of virtual communities.
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The crux of the passage is that the Internet:

T3 stEnior wr g wa 3 By doedie -

[Question ID = 11118][Question Description = 52_qSNz_PG_GP34_Q50]
1. is an all-powerful medium /wmifirs aitrercd mee £

[Option ID = 14469]
2. can provide segmented experience of the world/Fra o FiEa J15ma U@ o2 I &

[Option 1D = 14470)
3. has limited use in politics/ o rastf 3 Hiff soer &

[Option ID = 14471]
4. can help organise people’s assemblies/s= e o1 =N ©F Faxd 8§

[Option 1D = 14472]

Correct Answer :-

& i35 an all-powerful medium /amifirr siftrercdt mem &
[Option 1D = 14469]



